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UPCCL Junior Engineer Trainee
Electrical Set2

Topic:- UPPCL_Feb18_JETE_Set02_TECH

1) Directions : For the Assertion (A) and Reason (R) below, choose the correct alternative:-
Assertion (A): 3 wire dc distribution system is preferred over 2 wire dc distribution system.
Reason (R): the 3 wire dc system of distribution is more safe.

Rram-fadar: s Rw are srfdumr (v) 3k FRoT (3R) # A, @@ RAweT go:-

AFY (T): 2 aR A RAaor gorelt @ 3 ar e favor yomreh # 3rfie gwe fFar sirarn #

HIOT (I1R): Rrerwor &1 3 A et ool arferes g €|

[Question ID = 2439]

1. Both A and R are true and R is not the explanation of A / T 3iT 3R &l T & 31 31}, T T TISETOT 781 &
[Option ID = 10058]

2. Both A and R are true and R is the correct explanation of A / T 3R 31X gl I § 3R 3R, T &1 T [Aaror &
[Option ID = 10057]

3. None of these/ 35137 & &Ig 3T gr [Option ID = 10060]

4. Ais true but R is false / T &cd § ifehsT 3TR 318 & [Option ID = 10059]

Correct Answer :-
« Ajis true but R is false / T T & oifeheT 3R 318 & [Option ID = 10059]

2) If the PIV rating of a diode is exceeded,

i st Y dNangdy e 31t gy or=ft, at | [Question ID = 2453]

1. The diode conducts poorly / 38 TR 92T FIdT & [Option ID = 10113]

2. The diode behaves like a tunnel diode / 3TITS Teh Aol STAIS FT dRE cTTER FAT g [Option ID = 10115]
3. The diode is destroyed / STIIS A€ & ST & [Option ID = 10114]

4. The diode behaves like a capacitor / 3RS $ATHCT HT IE TIBR AT & [Option ID = 10116]

Correct Answer :-
« The diode is destroyed / 31315 As¢ &1 SITdT & [Option ID = 10114]

3) Which of the following correctly defines Power?

fArafaf@a 7 @ Flawr afea # 7€ w7 7 F oRenfRa Fward?

[Question ID = 2430]



1. Energy / it [Option ID = 10024]

2. Watt / aTe [Option ID = 10023]

3. The rate at which energy is used / T &X X T T 3T fohaT ST § [Option ID = 10022]
4, The rate at which energy is generated / {5 &3 W Fail 3cUe<T 8T & [Option ID = 10021]

Correct Answer :-
« The rate at which energy is used / TS &3 TR FaIT T 39T fHAT SATAT & [Option ID = 10022]

4) Which of the following is required in series RLC circuit to get Q>1?

Q>1 Ut & fw sj@en IRverdt afde & fawe & § 41 amaeas 82
[Question ID = 2406]

1. X, < R [Option ID = 9927]
2. X > R [Option ID = 9925]
3. X, = R [Option ID = 9926]
4, None of these / 313 & 15 8t 18T [Option ID = 9928]

Correct Answer :-
e X_ > R [Option ID = 9925]

5) Which of the following comes under the category of Systematic errors in instruments?

Arfaf@a & @ FiF a1 3gRon & R[reafes iy i Aoft & srqeiq smar @2
[Question ID = 2369]

1. blunders / seisd [Option ID = 9779]

2. gross errors / Hehel JfeAT [Option ID = 9780]

3. random errors / {37 WK [Option ID = 9778]

4. instrumental errors / ¥g¥ce WRT [Option ID = 9777]

Correct Answer :-
o instrumental errors / $¥gHcd TR [Option ID = 9777]

6) Which of the following has highest moderating ratio?

ot 3 frarepT 3oaas AR srura 22
[Question ID = 2492]

1. HyO [Option ID = 10270]

2. D,0 [Option ID = 10269]

3. Helium / €iferaa [Option ID = 10272]
4, Carbon / @18 [Option ID = 10271]

Correct Answer :-
e D50 [Option ID = 10269]



7) Which of the following materials has susceptibility independent of temperature?
oot # & e ward # arwere § FFd wagerediaar 8?
[Question ID = 2419]

1. Ferromagnetic / @ilg dfsehrar [Option ID = 9979]

2. Ferrimagnetic / g elig-Tsehcd [Option ID = 9978]
3. Paramagnetic / 3]s [Option ID = 9977]

4. Diamagnetic / Jfd-gahrar [Option ID = 9980]

Correct Answer :-
« Diamagnetic / 9f-dsehrar [Option ID = 9980]

8) Which of the following material is a source of piezoelectric?

T & ¥ Sl d@ aeEh degafFes 1 a1 82
[Question ID = 2384]

1. Ceramic / f&f&s [Option ID = 9839]

2. Lead alloy / &% Tar [Option ID = 9840]

3. Lead Zirconate Titanate / o8 faefeie @sesie [Option ID = 9837]
4, Quartz / Farést [Option ID = 9838]

Correct Answer :-
« Lead alloy / @8 T [Option ID = 9840]

9) Which of the following materials follow magnetic anisotropy?

frrafaf@a verdt # @ wiqwr gehT RAvHe RFar 33t #1 arere Far 82
[Question ID = 2417]

1. Ferromagnetic / olig d@faehra [Option ID = 9972]

2. Ferrimagnetic / oTg eig-Yaehcd [Option ID = 9971]
3. Paramagnetic / 37eJds<h1 [Option ID = 9969]

4. Diamagnetic / 9fd-dehra [Option ID = 9970]

Correct Answer :-
« Ferromagnetic / @ig dfashr [Option ID = 9972]

10) Which of the following terms is analogous to conductivity?

et & & w7 A7 areg ATEEHAT F ITET 82
[Question ID = 2400]

1. Inductance / 31f&rsaM9eT [Option ID = 9904]
2. Permeability / 9RaT&IAT [Option ID = 9902]
3. Retentivity / 9feemRoT [Option ID = 9903]
4, Resistivity / IfaRIereRdr [Option ID = 9901]



Correct Answer :-
¢ Permeability / 9RETFIAT [Option ID = 9902]

11) Which of the following falls under the category of three-pin voltage regulator ICs?

forot & & f1-Riet dieear Wapares el Aoft o i amar 82
[Question ID = 2480]

1. Both Fixed voltage regulators and Variable current regulators / &=l fthereis aleesT WX 3R AT Fe
W[eIeX [Option ID = 10223]

2. Adjustable AC voltage regulator / IHTIIST THT dlecol =dTdHe® [Option ID = 10224]

3. Fixed voltage regulators / ftherg dledst ¥efeleX [Option ID = 10221]

4. Variable current regulators / aRTsel sie YaTelet [Option ID = 10222]

Correct Answer :-

» Both Fixed voltage regulators and Variable current regulators / 2lail ftherdis atecst T[eley 3T AR T e
Wreex [Option ID = 10223]

12) Which of the following is a ferroelectric material?

Xt & Sl FvafFesd et 2
[Question ID = 2356]

1. Barium titanate / SRI# e1gcsie [Option ID = 9726]

2. Potassium dihydrogen phosphate / TR sTsgTS2IeT HBIEhe
[Option ID = 9725]

3. All of these / T3 Td%ed [Option ID = 9728]

4. Rochelle salt / Ir2rer ATee [Option ID = 9727]

Correct Answer :-
o All of these / @3 Tased [Option ID = 9728]

13) Which of the following are cost effective instruments?

et & @ ST FT AT THTE IUHIOT 82
[Question ID = 2426]

1. Active instruments / &fshar d= [Option ID = 10006]

2. Former is passive instrument and later is active instrument / B1&R fATSHT 39T § 3T oleX TfhT 3uaoT §
[Option ID = 10008]

3. Former is active instrument and later is passive instrument / ®I&T AT 3UHoT & 3R e AfSHT 3uawoT §
[Option ID = 10007]

4, Passive instruments / TS I [Option ID = 10005]

Correct Answer :-
o Passive instruments / fA3fS%ar I [Option ID = 10005]



14) Which of the following is true for 3.9 k resistor using color-coding technique?

frafaf@a # Flear o1 e aweds F1 7@ F aro 3.2 s & g § a7 82
[Question ID = 2428]

1. red, white, red, gold / oTel, the;, #fTel, FeIeT [Option ID = 10013]

2. red, green, orange, silver / Tel, g, sTR3M, TTEr [Option ID = 10015]

3. orange, green, orange, silver / sTI3TT, 3T, A3, TTET [Option ID = 10014]
4, orange, white, red, gold / AR3T, A%e, T, geAedr [Option ID = 10016]

Correct Answer :-
« orange, white, red, gold / sIR3M, e, &Tel, FAgr [Option ID = 10016]

15) Which of the following generator is used in the thermal power plant?

FSHIT FoT G4 & [T & @ ST F ST H1 9297 Fam SA1ar 82
[Question ID = 2385]

1. Turbo generator / Tdf STAeX [Option ID = 9843]

2. synchronous motor / f&shIera AeX [Option ID = 9844]

3. Non-salient pole synchronous generator / 3 73y grer fAsIAd STeikeX [Option ID = 9841]
4. Salient pole synchronous generator / @ Hlel f&shleTd STel¥eX [Option ID = 9842]

Correct Answer :-
« synchronous motor / f&shiad Hiex [Option ID = 9844]

16) Which of the following is not a reason for undesirability of magnetic leakage in electric
machines?

farafaf@a & & Fla o safees miat & gadhg Rug A saredaar w1 FrRoraE 8?2
[Question ID = 2404]

1. Produces fringing / TRfSIT &t 3careet ar g [Option ID = 9918]

2. Lowers their power efficiency. / 3eTehr fFd G&TdT &a Xl g [Option ID = 9919]

3. Leads to their increased weight / 38 Herea®d dsiel H gig glcl & [Option ID = 9917]
4. None of these/ =137 & &g 3T sTgr [Option ID = 9920]

Correct Answer :-
« Lowers their power efficiency / 3aTehT 2T G&TdT &al T & [Option ID = 9919]

17) Which of the following is the correct definition of phasor?
Arafaf@a # ¥ i B F g aiemn §2
[Question ID = 2425]

1. An instrument used for measuring phases of an unbalanced 3-phase load / Teh 3 3-TROT HR & TROW
ATYT o TIT GAT9T TRAT AT aTelT Teh 39ehoT [Option ID = 10001]



2. A line representing the magnitude and direction of an alternating quantity / Te 9R&ATOT AT & gR&T0T 3R fgom
&1 gfafafeca adr §é T ¥@r [Option ID = 10003]

3. A line which represents the magnitude and phase of an alternating quantity / Te 9T ST Teh dehiodeh HTAT &
gR@ATeT 3R =Rt 1 gfafafeca & & [Option ID = 10002]

4. A coloured tag or band for distinction between different phases of a 3-phase supply / T 3-TR0T mqj%‘r &
TaffesT TRt & T A FXA & foIw veh @i a1 a7 d [Option ID = 10004]

Correct Answer :-

« Aline which represents the magnitude and phase of an alternating quantity / Te 9f&d St Teh dehfeder ATAT
& qR&ATT 3T =0T &A1 gidfATeed St § [Option ID = 10002]

18) Which of the following is the correct formula of specific resistance?

e # & *l @1 Rt i &1 @ g7 82
[Question ID = 2409]

1. R/L [Option ID = 9938]

2. RL/A [Option ID = 9937]
3. RA/L [Option ID = 9940]
4. A/RL [Option ID = 9939]

Correct Answer :-
o RA/L [Option ID = 9940]

19) Which of the following is the most common waveform of AC signal?

T & A FlaHt vt Rvater Y gai®® AT alor 82
[Question ID = 2422]

1. Square / =ishIT [Option ID = 9990]

2. Sinusoidal / fATaTESe [Option ID = 9992]
3. Saw Tooth / | €& (3R & &ld) [Option ID = 9991]
4. Triangular / faeleir [Option ID = 9989]

Correct Answer :-
+ Sinusoidal / f&TaTSSe [Option ID = 9992]

20) Which of the following symbol represents absolute permittivity of dielectric medium correctly?

e & Fierar yelie sramas Areae $ quf RIATREE F 78 & & qaiiar §?
[Question ID = 2413]

1. er [Option ID = 9953]
2. €0 [Option ID = 9955]
3. er*e0 [Option ID = 9956]
4. er/e0 [Option ID = 9954]

Correct Answer :-



« er*e0 [Option ID = 9956]

21) Which type of coupling is used by power amplifiers for impedance matching?

wfrarer fram & fT qrat vrae e # R YR & JeAeT &1 39ANT Fd 52
[Question ID = 2446]

1. Flexible coupling / er<Tell ga#=T [Option ID = 10088]

2. Gear coupling / &% a#=T [Option ID = 10087]

3. Transformer coupling / TEHEFR gaAT [Option ID = 10086]
4. Rubber coupling / ¥siT gaHsT [Option ID = 10085]

Correct Answer :-
» Transformer coupling / EFEW®IFAT J7#=T [Option ID = 10086]

22) Which factor influences the critical density of the superconductor?

FIT AT FRS AHfaaras #f FRead SRS F A F) IHT F3a1 82
[Question ID = 2474]

1. (a) Magnetic field strength / Js<hTar &1 & dTehcl [Option ID = 10197]
2. (d) Both (a) and (b) / g1t (a) 3iR (b) [Option ID = 10200]

3. (b) Temperature / A9&ATT [Option ID = 10198]

4. (c) Electric field / faegd & [Option ID = 10199]

Correct Answer :-
« (d) Both (a) and (b) / @t (a) 31T (b) [Option ID = 10200]

23) Which among the characteristic of crystal diode is used for rectification?

v freee ST A R farehar w1 sudier gur & faw gar 82
[Question ID = 2454]

1. Opposite / a9y [Option ID = 10117]

2. Can't be determined / TR T8} fRaT ST Tehar [Option ID = 10120]
3. Forward or reverse / 379 3T faudia [Option ID = 10119]

4. Forward / 3731 [Option ID = 10118]

Correct Answer :-
» Forward / 3731 [Option ID = 10118]

24) Which among the following statements are true with respect to semiconductor breakdown?
IeiaTed e & ey A e a9 A F FlT ar T 8

[Question ID = 2465]



1. Both The Zener breakdown occurs in junctions which are lightly doped and The avalanche breakdown occurs in
junctions, which are heavily doped / &/t SR ShsT3T 37 ST H BIdT § Sif §oh AT H 318 gld §] 3R
JaelTa Teot T TfRAT 3o7 STRid 3 BIciT & S AT ATAT 3 3108 g €] [Option ID = 10163]

2. None of these / 3781 & &S & 57T [Option ID = 10164]

3. The Zener breakdown occurs in junctions which are lightly doped. / SieR SIh3I3T 3T ST  &ldl & oIl §ooh
AT # e g & [Option ID = 10161]

4. The avalanche breakdown occurs in junctions, which are heavily doped. / 31aelTe geat sl UishaT 3eT STerrE H
gIdT § ST $TRY AT 7 3158 g1 §| [Option ID = 10162]

Correct Answer :-

» The avalanche breakdown occurs in junctions, which are heavily doped. / 31aeiTe geet T GfshaT 37 Srerd H
2T & S 9IRY A= 7 3res @1 & [Option ID = 10162]

25) Which law states that an e.m.f is induced in a conductor whenever it cuts the flux?

FIeT |1 FT T ¢ FF 7 3ff STAT v Fzaex 7 9N &) A1 8, I 3t g Foraw F e AT e

[Question ID = 2350]

1. Gauss's law for magnetism / 311& &T Heehcd o foIT &IefeT [Option ID = 9704]

2. Lenz's law of electromagnetic induction / faegd F&rehIar ST & oletef &1 =g # [Option ID = 9702]

3. Faraday's law of electromagnetic induction / thTs T faegel gFaehiar X7 &I isfel [Option ID = 9703]
4. Lorentz force law / @eCaT Sef hlefel [Option ID = 9701]

Correct Answer :-
« Faraday's law of electromagnetic induction / %S T faegcT JFaehIar IRUT & &iefeT [Option ID = 9703]

26) Which charging method is preferred to avoid sulfation of batteries?

i 7 gedee ¥ Tae F v Sl @ @fstr R F graf@ear § s @2
[Question ID = 2381]

1. Both Initial charging & Trickle charging / 3R anfiar 3R et (&71#Y) =nfSier g1t [Option ID = 9828]
2. Quick charging / caRd aTfeier [Option ID = 9827]

3. Trickle charging / fearer (415 @mfeteT [Option ID = 9826]

4, Initial charging / 3TRf&% =feter [Option ID = 9825]

Correct Answer :-
« Trickle charging / feerer (&fefh) =nfSier [Option ID = 9826]

27) Which law is a consequence of the law of conservation of energy?

FITHT FTeTsT FoAT HIRTVT & FIele T U TROMH §?
[Question ID = 2347]

1. Lenz's law / ofeToT &T &sfel [Option ID = 9691]
2. Moore's law / HI =T hlefet [Option ID = 9692]
3. Faraday's law /%S &T &efel [Option ID = 9690]
4. Kepler's law / 3CeR @l shisfet [Option ID = 9689]



Correct Answer :-
+ Lenz's law / oleToT &I &lefst [Option ID = 9691]

28) Which one is disadvantage of impedance matching?

sFfis=y AT Hir Fa1 @1fA B2
[Question ID = 2449]

1. Gives low power output / &3 9fax 33cqe &dr & [Option ID = 10098]

2. Gives distorted output / fashe 3i3€Ye & & [Option ID = 10097]

3. Requires a transformer / 38 AR FI TELTHAT gidT & [Option ID = 10099]
4. Generates electrical power / fdegd U 3cdeeT ST & [Option ID = 10100]

Correct Answer :-
» Gives distorted output / faehe 33eqe & & [Option ID = 10097]

29) Which is to be considered as the most important characteristic of power amplifier?

FHH § FAT GfaT TFIENHRR # HaW Ageaqul Rreivar §2
[Question ID = 2447]

1. Biasing the circuit / @fhe Fr ST FHTAT [Option ID = 10089]

2. Collector efficiency / selaeX &THdT [Option ID = 10090]

3. To keep the transformer cool / SRR &t 38T IW=T [Option ID = 10091]
4, None of these / 378 & g &ff 77T [Option ID = 10092]

Correct Answer :-
« Collector efficiency / seldeX &HdT [Option ID = 10090]

30) Which part/phenomenon controls the controlling torque in megger?

FieT I1 FFar/gear AR & AT O # AR Frard?
[Question ID = 2366]

1. earthing / 31f21sT [Option ID = 9766]

2. leakage current / R&ra &¥e [Option ID = 9768]
3. spring / f&T [Option ID = 9765]

4. coil / Uzl [Option 1D = 9767]

Correct Answer :-
+ coil / FUselr [Option ID = 9767]

31) Which instrument has the multiple shunt or series resistances inside the meter?

HeX F 31T 7 30T # Aediea o 3R DT Weda ar 2

[Question ID = 2349]



1. Moving coil galvanometer / ﬂﬂi%?»?r YRTATIT [Option ID = 9698]
2. Multimeter/ #FeSIHET [Option ID = 9700]

3. Multirange meter / et #Hex [Option ID = 9697]

4, Wattmeter / afesiex [Option ID = 9699]

Correct Answer :-
 Multirange meter / #FeEIST #Hex [Option ID = 9697]

32) By which of the following elements transients will not occur?

e & & a7 @1 a7 O a7t ghen?
[Question ID = 2407]

1. L [Option ID = 9930]
2. R [Option ID = 9929]
3. C [Option ID = 9931]
4, All of these / @3t fdsed [Option ID = 9932]

Correct Answer :-
e R [Option ID = 9929]

33) Calculate the frequency in Hz of a 10-pole AC generator which rotates at 1800 rpm.

10 9o THY STe1¥ey Y FrFdHl géar A qar St 1800 Hwe 9T gAT 81 [Question ID = 2483]

1. 120 [Option ID = 10236]
2. 100 [Option ID = 10234]
3. 150 [Option ID = 10235]
4. 180 [Option ID = 10233]

Correct Answer :-
e 150 [Option ID = 10235]

34) Calculate the temperature coefficient in %/° C of a 8.6-V nominal Zener diode at 30° C if the
nominal voltage is 9.4 V at 100° C.

IfE 100° AfeHTH 9T AR dlecsr 9.4 dlee § af 30° ATeEIH TT 8.6-dec ARTAT Aol 3RS F %/ Afeaaw
ATIHTEA JOTF T 0T F| [Question ID = 2457]

1. 0.1251 [Option ID = 10130]
2. 0.1142 [Option ID = 10131]
3. 0.1238 [Option ID = 10129]
4. 0.1321 [Option ID = 10132]

Correct Answer :-
e 0.1142 [Option ID = 10131]

35) Of what material, Swamping resistance is made up?

Faifeger gfay e gt ¥ sqar §?



[Question ID = 2408]

1. Alloy of nickel and cobalt / feiehel 3R @lsTee &1 fA4 4T [Option ID = 9935]

2. Alloy of manganin and aluminium / #3TelieT iR Tegatferze & {41 &g [Option ID = 9933]
3. Alloy of manganin and copper / HaTefle 3R el 1 T &1 [Option ID = 9934]

4. None of these / 378 & IS 3 &I [Option ID = 9936]

Correct Answer :-
« Alloy of manganin and copper / HatefeT 3R i &T {47 &1 [Option ID = 9934]

36) The output impedance of an emitter follower is

UF TR At Y 3r3eqe gfaarn gt ¥| [Question ID = 2444]

1. Very high / agT-r}lﬁEF [Option ID = 10078]

2. High / 317 [Option ID = 10077]

3. Low / & [Option ID = 10080]

4. Aimost zero / =1eT8eT [ [Option ID = 10079]

Correct Answer :-
e Low / @& [Option ID = 10080]

37) Alternating current is measured by:-

YeaTad! €T Y e gaRT AT S gt
[Question ID = 2368]

1. induction ammeter / 382l THHAEX [Option ID = 9773]

2. electrostatic ammeter / SeleIEefeah THFHIEX [Option ID = 9775]

3. moving iron repulsion type voltmeter / FfdaT 31183 RYerdsT dalec#ex [Option ID = 9776]
4. permanent magnet ammeter / TR Teehrar THAIET [Option ID = 9774]

Correct Answer :-
o induction ammeter / 5% THHEI [Option ID = 9773]

38) Which among the following is the important component for the value of critical density in a
superconductor?

& sifaares # e SR & am 7 fFea & v Arafaf@a § @ Fi9 a1 Ageaqor gew 8?2 [Question ID
= 2458]

1. Magnetic field strength and temperature / El;clﬁ'q &1 T drehd 3R argATeT [Option ID = 10133]
2. Current gain / #¥e # gfg [Option ID = 10136]

3. Resonance / gfaeafsr [Option ID = 10135]

4, Power / 21f&d [Option ID = 10134]

Correct Answer :-
+ Magnetic field strength and temperature / HsiehIar & &I dTehcl 3R A& [Option ID = 10133]

39) Which among the following indicates Early effect in BJT?



i@ & @ Fi a1 A9 F IRFF warrg F7 GHa &a1 82 [Question ID = 2452]

1. Zener breakdown / S1eIX SehaT3+T [Option ID = 10112]

2. Avalanche breakdown / R@HAEEeT sihs134T [Option ID = 10109]
3. Base narrowing / 3R HgdT [Option ID = 10111]

4, Thermal breakdown / Z& e sisT3 [Option ID = 10110]

Correct Answer :-
« Base narrowing / 3R el [Option ID = 10111]

40) Select out the advantage of three phase induction motor over single phase inductor motor.

(i) Self starting motor
(ii) Better power factor
(iii) High efficiency

T BT SZFUAT AT T Tk HaT AT SSFAT AT & FIT FAT ATH ¢ |

(i) Ta IRfAF AT

(i) deR afFT FRF
(iii) 3= gaTar
[Question ID = 2355]

1. (i), (ii) and (iii) / (i), (i) 3 (iii) [Option ID = 9724]
2. (ii) and (iii) / (i) 3i (iii) [Option ID = 9722]

3. (i) and (ii) / (i) 3 (i) [Option ID = 9721]

4. (i) and (iii) / (i) 3R (iii) [Option ID = 9723]

Correct Answer :-

« (i), (i) and (iii) / (i), (i) 3K (iii) [Option ID = 9724]

41) Select the correct definition of powergain ratio.
AT i IreTTe (a7 Jre7arer) v wE AR F A |
[Question ID = 2463]

1. Output power to input power / 3T3e9e AfFd & geIe e [Option ID = 10154]
2. Output voltage to input power / 3iT3eYe dleest & geiqe i [Option ID = 10156]
3. Input votage to output power / 3T9e dlecst & 3M3eYe AfFd [Option ID = 10155]
4. Input power to output power / 3eT9e IfFd & 3M3eYe AfFd [Option ID = 10153]

Correct Answer :-
« Output power to input power / 3T3e¢Ye 2AfFd & g=19e e [Option ID = 10154]

42) Select the correct statement regarding a semiconductor.

TF IATeF & IR A T AT B gl |

[Question ID = 2466]



1. Acceptor level lies close to valence band / TR TR doiH 88 & 19 & [Option ID = 10165]

2. N-type semiconductor behaves as a conductor at 0°K / TH-2T8Y 37edTeleh 0° shiedsl WX Hadel & ®9 F cTdgR
FId & [Option ID = 10167]

3. All of these / @ fased [Option ID = 10168]

4. Donor level lies close to valence band / AT TR doiH 88 & 19 & [Option ID = 10166]

Correct Answer :-
o Acceptor level lies close to valence band / T TR doiF 85 & &3 & [Option ID = 10165]

43) When will the magnetic lines of force bend away from their usual paths in order to pass through
the piece?

Fa q Y IR A3 ghs F T[oRa F AT 9 AT 99 & 5T &) SAelt 82
[Question ID = 2345]

1. When an iron piece is placed perpendicular to the magnetic field / ST9 Tsh Slg ST ghsT Taenld &7 U TUfSHer
T@T ST g [Option ID = 9683]

2. When an iron piece is placed in a parallel plate capacitor / 579 Ush ilg &l gehsT HHICR Tl HETR & T@T SIIell §
[Option ID = 9684]

3. When an iron piece is placed in a magnetic field / ST&f Teh ollg &1 gehsT Ysiehi &1 A IWT STTclm & [Option ID =
9682]

4. When an iron piece is placed in an electric field / STef Ueh Siig T gohsT Ueh faisiell & &1 & I@T STl & [Option ID
= 9681]

Correct Answer :-
+ When an iron piece is placed in a magnetic field / S5’ Teh iig 3T gehsT deehry &1 & @M STl & [Option ID =
9682]

44) When will the self-inductance of an inductive coil be doubled?

gsf¥ea HIa FT Tqc:-HIH GH[AT Fd M2
[Question ID = 2346]

1. Both the number of turns and the core length of an inductive coil are equal / 21wt HIST T HEAT 3R I Heir
&I PR T TS SRS &1 STl & [Option ID = 9688]

2. Both the number of turns and the core length of an inductive coil are doubled / g\t AT $r FEar 3R R+
Gl T I I oTS SN &1 STcll & [Option ID = 9686]

3. Both the number of turns and the core length of an inductive coil are halved / &=t #st I HEaT 3R 9 FH3oll
#HT PR T a8 AT & ST § [Option ID = 9687]

4. The number of turns and the core length of an inductive coil are zero / FFT &I HEAT 3R Teh YTeh HIgeT T HR
FETS e gIer § [Option ID = 9685]

Correct Answer :-
« Both the number of turns and the core length of an inductive coil are doubled / gl=it AIST T TEAT 3R R
Sl 1 P 1 TS GE @ S ¥ [Option ID = 9686]

45) When the collector junction in a transistor is biased in reverse direction and the emitter junction
in the forward direction, the transistor is said to be is the:-



T & 9 FaFet ST Qe an 7 31k vfiex siFee 3 fan & arres giar § ar gifsree &1 g1 sirar
L

[Question ID = 2450]

1. Saturation / &St [Option ID = 10103]

2. Cutoff region / @e 3iT% &1 [Option ID = 10102]

3. Active region / &fshr &1 [Option ID = 10101]

4, None of these / 31 & FI5 8t T8l [Option ID = 10104]

Correct Answer :-
« Active region / &fshd &7 [Option ID = 10101]

46) When an ac power is applied to a circuit having reactive load, then the voltage is

o9 v vt afFa wfafFamede s arer oy o amp g 8, ot aees BT e.
[Question ID = 2421]

1. 90 degree out of phase with the current / 3Taer & &1 axoT & 90 f33fT 18X [Option ID = 9985]
2. 180 degree out of phase with the current / 3TTaer & &1 TROT & 180 f33fT a8 [Option ID = 9988]
3. In phase with the current / 31aer & &T2r TROT & [Option ID = 9986]

4. 270 degree out of phase with the current / 31Ta2r & a1 =0T & 270 f33f S1gX [Option ID = 9987]

Correct Answer :-
« 90 degree out of phase with the current / 3TT9er & &1 TXOT & 90 {33 S16X [Option ID = 9985]

47) Two long parallel conductors are placed 10mm apart from each other carrying current of 150
Amperes. What will be force per meter length of each one?

al o FATIGR Fsaey, St 10mm # §ft T 150 TFIAT T FAC Tg Fd 6| ToAF Hsaed i oars 1 fa A aa
ghm-
[Question ID = 2351]

1. 0.45 N [Option ID = 9708]
2. 0.1 N [Option ID = 9707]
3. 4.5 N [Option ID = 9706]
4. 9 N [Option ID = 9705]

Correct Answer :-
e 0.45 N [Option ID = 9708]

48) Binary'vapour cycles are used to

ASAN & AYT ThT T 3TANT F v fFar ST €
[Question ID = 2374]

1. increase efficiency of the turbine / eXaTgsT T g&TdT # gfg [Option ID = 9799]
2. increase the efficiency of the plant / 2 s g&tam # gfig [Option ID = 9798]
3. increase the performance of the condenser / HEfa & &eiet # gfg [Option ID = 9797]



4. Balance the efficiency of turbine / eXdTgeT T g&TdT T Ffeld =T o foIv [Option ID = 9800]

Correct Answer :-
« increase the efficiency of the plant / §3 s g&TaT # gig [Option ID = 9798]

49) In a straight wire, induced current depends upon which of the following factors?

% "eft ar 7 IRT Fe FFT # & 7 FRe W R sarg?
[Question ID = 2420]

1. Magnitude of magnetic flux density / IeehIa FefeFd EleTcd sl TRATOT [Option ID = 9981]
2. Speed of movement of wire / dR & deleT T 3TfaT [Option ID = 9982]

3. All of these / @ faed [Option ID = 9984]

4, Length of wire / dR & of&1$ [Option ID = 9983]

Correct Answer :-
« All of these / T3fr fdeed [Option ID = 9984]

50) In a synchronous motor, the breakdown torque is

Teh Jedehiere TTed i 3% 3134 € g gl
[Question ID = 2378]

1. inversely proportional to the square of the applied voltage / Sged aleesl & a1 & fauiid egcue= [Option ID =
9816]

2. inversely proportional to applied voltage / 9 dlecsT & faadid cgcde=1 [Option ID = 9815]

. directly proportional to applied voltage / Sged dleest & Y 3TeaTids [Option ID = 9813]

4. directly proportional to the square of the applied voltage / Y& alees & adf & ey 31reqaricish [Option ID =
9814]

w

Correct Answer :-
« directly proportional to applied voltage / ged dlecst & Her 3TeIuTfdish [Option ID = 9813]

51) In a BJT, the base current(IB) is about of emitter current(IE).

TF SISl F 97 Fe (3éa) TR FIT (3E) & FAIHIT gl
[Question ID = 2387]

1. 25% [Option ID = 9849]
2. 20% [Option ID = 9851]
3. 5% [Option ID = 9850]

4. 35 % [Option ID = 9852]

Correct Answer :-
e 5% [Option ID = 9850]



In a 3- phase dynamometer type power factor meter, two moving coil planes are inclined at an angle
of:-

T SRIATATHAICY 3-S5 UTa} g HieX #, a afaflrer Fsforat fir geare fra o o §:-
[Question ID = 2370]

1. 180° [Option ID = 9783]
2. 120° [Option ID = 9784]
3. 90° [Option ID = 9782]
4. 45° [Option ID = 9781]

Correct Answer :-
e 120° [Option ID = 9784]

53) Economiser is used to heat.

SRIATAATSAT HT 3TANT FA 7 I & fow fFar smar g
[Question ID = 2373]

1. flue gases / %e] 3 [Option ID = 9795]

2. feed water / ®1g arex [Option ID = 9794]

3. air / gar [Option ID = 9793]

4. All of these / Tt Tased [Option ID = 9796]

Correct Answer :-
o feed water / %15 arex [Option ID = 9794]

54) Carnot cycle comprises of:-

FIAC Th H FIT MIAT 8-
[Question ID = 2375]

1. two isothermal processes and three constant pressure processes / gl 3TsEIH Fishamd 3R it 2R gara
gfshamd [Option ID = 9803]

2. two isothermal processes and two constant pressure processes / &I 3SR IfHATT 3R &) TRIdR gara
gfehard [Option ID = 9804]

3. two isentropic processes and two constant volume processes / & faferse gfshame 3R gr 2R gfshame [Option ID
= 9801]

4. two isentropic processes and two constant pressure processes / ar 3TSqecieh IfHATT 3R & TRMIR gara
gfshare [Option ID = 9802]

Correct Answer :-

« two isentropic processes and two constant pressure processes / &l 3TSdeciiueh FfHATT 3T & TR gara
gfshare [Option ID = 9802]

55) Dependent sources are also called

ICeIEGE: IGHED S k1 kG



[Question ID = 2391]

1. Uncontrolled sources / 31faaf3a & [Option ID = 9868]

2. Time response elements / TFT 9faAfshar arel dca [Option ID = 9867]
3. Steady state elements / EUR 371G aTel dea [Option ID = 9866]

4, Controlled sources / faf3a & [Option ID = 9865]

Correct Answer :-
« Controlled sources / f@af¥a & [Option ID = 9865]

56) How many comparators would a 12-bit flash ADC require?

T 12-R weter St A Rraet geleRE $T 3raeasar §9i? [Question ID = 2475]

1. 2512 [Option ID = 10204]
2. 3095 [Option ID = 10202]
3. 4095 [Option ID = 10201]
4. 4000 [Option ID = 10203]

Correct Answer :-
e 4095 [Option ID = 10201]

57) Stability and transient response can be best determined by which of the following techniques?

ot & @ e @7 Ry 3ikv a1t wfafear #1 @uRor F@ & R ga@ 3o afe 1 82
[Question ID = 2468]

1. Root locus / & &iiehd [Option ID = 10173]

2. Time response analysis / Y fafshadr fa2eor [Option ID = 10176]
3. Bode Plot / &1 Terre [Option ID = 10174]

4. Nyquist plot / sfterdIEe Telre [Option ID = 10175]

Correct Answer :-
 Root locus / & &ievd [Option ID = 10173]

58) Voltage regulation of an ideal regulated power supply is measured to be equal to:-

o 3reet fafaafaa e smgfet # et fafaase e awew ard = 32
[Question ID = 2476]

1. 2% [Option ID = 10206]
2. 1% [Option ID = 10207]
3. 100% [Option ID = 10208]
4. 0% [Option ID = 10205]

Correct Answer :-
o 0% [Option ID = 10205]



is supported from the ceilings.

__ sa¥wENIadrs|
[Question ID = 2461]

1. Belt conveyor / Se€ FeadX [Option ID = 10146]
2. Roller conveyor / IeR @eaaxX [Option ID = 10145]
3. Chain conveyor / T ®=aax [Option ID = 10147]
4. Trolly conveyor / gTell edaX [Option ID = 10148]

Correct Answer :-
« Chain conveyor / deT &=aaxX [Option ID = 10147]

60) If a system is connected in delta connection, how can be the total power output expressed as?

3T & 3 Rrew Y or Rrsrelt am3eye & fAv oo su% qan f&ar aram 82
[Question ID = 2352]

1. 1/v/(3Vp Ip sin@) [Option ID = 9711]
2. V(3Vp Ip) cos@ [Option ID = 9710]
3. 1/3 x(Vp Ip cos@) [Option ID = 9712]
4. 3Vp Ip cos@ [Option ID = 9709]

Correct Answer :-
e 3Vp Ip cos@ [Option ID = 9709]

61) State an example of plastic welding?

CoTfees ATeS FT UFH 3STEI0T adIu?
[Question ID = 2431]

1. Gas welding / 3 afesar [Option ID = 10025]

2. Resistance welding / 9faRTer afesar [Option ID = 10026]

3. Thermit welding without pressure / greRfgd a#c dfegar [Option ID = 10027]
4, None of these / 313 & FIg 8t =TT [Option ID = 10028]

Correct Answer :-
« Resistance welding / 9TaRTer afegar [Option ID = 10026]

62) Household energy meter falls under category of which type of instrument?

T Folt AT e TR F T Ay Avh F 3rar 82
[Question ID = 2364]

1. a magnetically revolving type instrument / Teh Fehig IR FehR T J=o [Option ID = 9757]
2. a recording instrument / e RepifsaT I [Option ID = 9758]

3. a displaying instrument / T Y& fid 39eoT [Option ID = 9760]

4. an integrating instrument / T SEIATET I [Option ID = 9759]



Correct Answer :-
« an integrating instrument / T ¢AIEeT IF [Option ID = 9759]

63) Among these which one is correct about the characteristics of transistor?

ZIH ¥ U Tifareet Y vt & I & F41 98 82 [Question ID = 2443]

1. It has very low input impedance / 38& g HH Y gfaemer g [Option ID = 10074]
2. 1t has zero input impedance / 383 =T s?l'EE e € [Option ID = 10076]

3. It has high input impedance / 38# S geTqe gfcarer & [Option ID = 10075]

4. It has low input impedance / $8# &# geTqe gfaaTer & [Option ID = 10073]

Correct Answer :-
« It has high input impedance / $8& 3Ta g=19¢ YidaTer & [Option ID = 10075]

64) Dielectric constant of air is

a1 FT SBUATREF FIFEET gl
[Question ID = 2399]

1. Less than 1/ 1 & &# [Option ID = 9897]

2. Equalto 1 /1 & sXr&} [Option ID = 9899]

3. Can't be determined / eiRa wigr fohar ST Fewar [Option ID = 9900]
4. Zero / Y=T [Option ID = 9898]

Correct Answer :-
e Equalto1l /1o sXreX [Option ID = 9899]

65) Magnetic Bubbles are used as

T Jorgell $T 39ANT ___ T # R afrar ¥ |
[Question ID = 2470]

1. Routing telephone calls / &elWIsT il ! FieaT =TT [Option ID = 10184]
2. Thermostat / &7AfEee [Option ID = 10183]

3. Storage device / TereT fEarsa [Option ID = 10181]

4. Strain gauge / fasfd y#ATI [Option ID = 10182]

Correct Answer :-
« Storage device / T&R<T f3arsd [Option ID = 10181]

66) If the instrument have a wide range, then instrument should have
g 39T A v e A@an gt §, o sawor g TfRT|
[Question ID = 2354]

1. Square-law scale / TFIRR &f YHTAT [Option ID = 9718]



2. Linear scale / Y@ YT [Option ID = 9717]
3. Exponential scale / gTdie YA [Option ID = 9719]
4. Logarithmic scale / STg3ToTeh JATAT [Option ID = 9720]

Correct Answer :-
» Logarithmic scale / SE[aT0Teh Y&AT=AT [Option ID = 9720]

67) How many types of dependent sources are there?

It A1 frast TR F @A {2
[Question ID = 2388]

1. 1 [Option ID = 9853]
2. 4 [Option ID = 9856]
3. 2 [Option ID = 9854]
4. 3 [Option ID = 9855]

Correct Answer :-
e 4 [Option ID = 9856]

68) How much eddy current loss does an air core inductor have?
A FR §3FCT A TS FC Ard et gref?
[Question ID = 2343]

1. Very less / Sgd A [Option ID = 9673]
2. Constant / 2R [Option ID = 9676]

3. Zero / =7 [Option ID = 9675]

4. High / 3T [Option ID = 9674]

Correct Answer :-
o Very less / Sgd A [Option ID = 9673]

69) How can we find the applications of Differentially compound D.C. motors?

BHRI3CN Far3s Al AT & 3TAT FE yIod FT THA 82
[Question ID = 2341]

1. zero torque / = €ieh [Option ID = 9665]

2. armature resistance / 3R IfGEEH [Option ID = 9668]

3. constant speed / 3R 1T [Option ID = 9667]

4. low starting torque / & YR T [Option ID = 9666]

Correct Answer :-
+ low starting torque / & YR FeTEPT [Option ID = 9666]



A property of a transformer which makes it ideal is.

TR Y grae], st 33 ameet qardh ¥ |
[Question ID = 2485]

1. CRGO core for its primary and secondary windings / &t yraf@ies 3R Areaf@s ars«fssd & fow CRGO #R
[Option ID = 10243]
2. No losses and magnetic leakage / 1S FJehaTeT 3R Yarehrar R@Ta w781 &1clm & [Option ID = 10241]

3. Interleaved primary and secondary windings / $eeiles IISHSI 31X gfada arga1fsaa [Option ID = 10242]
4, None of these / 318 & HIg 8T 18T [Option ID = 10244]

Correct Answer :-
+ No losses and magnetic leakage / #I$ FehdTeT 3T Yaehiar R&ATa w61 g1elm & [Option ID = 10241]

71) Reason for using silicon steel in electrical machines?

gafFehd AMAT F AR TET FT 3TANT FI FT FIOT 7471 82
[Question ID = 2403]

1. High retentivity / 31fe 9faeRoT [Option ID = 9913]

2. High coercivity / 31f&& sIeefafaér [Option ID = 9915]

3. Low hysteresis loss / # fgecRI&d arer [Option ID = 9916]
4. Low coercivity / # HITIATACT [Option ID = 9914]

Correct Answer :-
« Low hysteresis loss / & feEeRTAF ©rer [Option ID = 9916]

72) In a transistor amplifier, the purpose of capacitors is to

TIforet TR & FAeT #1387 2| [Question ID = 2442]

1. Couple or bypass a.c. Component / T &I &Iah &Y SiISaAT AT SSUTH &1 [Option ID = 10071]
2. Provide biasing / STIfH3T 9eTeT =T [Option ID = 10072]

3. Cool the transistor / gifSi¥eX @Y 33T &TAT [Option ID = 10070]

4. Protect the transistor / EITeieX I &I =T [Option ID = 10069]

Correct Answer :-
« Couple or bypass a.c. Component / T It &lceh &l SIISAT AT SISUTH ST [Option ID = 10071]

73) When the graph between current through and voltage across a device is a straight line, the
device is referred to as

oI RaEd # & Fe 3R 39 dlees § T F1 9% v de) {ar At g, ot Rasw #r & ¥ F ST
SITaT 1 [Question ID = 2455]

1. Passive / faTSwar [Option ID = 10124]

2. Nonlinear / 31¥T@& [Option ID = 10123]

3. Active region / @ifshar &1 [Option ID = 10122]
4, Linear / Y@ [Option ID = 10121]

Correct Answer :-



o Linear / ¥f@ [Option ID = 10121]

74) Radio frequency can be measured by which of the following?

R P RAFafaa & & e ard s s 82
[Question ID = 2367]

1. Weston frequency meter / a&e«T 3igfeet #HeX [Option ID = 9769]

2. vibrating reed vibrator frequency meter / {1 surg#TeT 3gfca Hiex [Option ID = 9770]
3. heterodoxy frequency meter / ge¥sTerdY 3Tgfcd #HieX [Option ID = 9771]

4. ferrodynamic frequency meter / fae[d 3efaiTe; 3mgfed #Hex [Option ID = 9772]

Correct Answer :-
» heterodoxy frequency meter / gesTeFaT 3Tdfcet #HeX [Option ID = 9771]

75) The conductivity of a metal is determined by.

T Y ATHAT $H% ganT AeiRa A STt | [Question ID = 2472]

1. Charge produced by the metal / &7 G@RT 3cdTiéd =t [Option ID = 10191]

2. The electronic concentration and the mobility of the free electrons / HeT Felereial Sl Selerciieieh Higdm 3K
arfarefierar [Option ID = 10189]

3. The number of valence electrons per atom / Sfel 319] del® Selerciail &I H&AT [Option ID = 10190]

4. Arrangement of electrons inside the atom of the metal / &g & 9YATIT & 31eT SAFCI=T St egaEAT [Option ID =
10192]

Correct Answer :-

« The electronic concentration and the mobility of the free electrons / Herd SeleFelel T Selerciioieh Higarl AR
arfarefrerar [Option ID = 10189]

76) A 50 Hz, 11 kV, 3 phase alternator with earthed neutral having a reactance of 3 ohms per phase
and is connected to a bus bar through a circuit breaker, if the distributed capacitance upto CB
between the phase and neutral is 0.01 p F.

What is the frequency of oscillations?

T% 50 g&ar, 11 Fdl, 3 =0T &1 Hafela), 3 3 gy =wor Fr wfasar & arer s{fAora aevy & wry ¢ 3k v wfke
FHT & ATETH § U 90 TR & 31 g1 §. A1 =07 3R deey & o et ao RraRa amikar 0.01 p vw. B, a arerer

#r amgfea FamE? "
[Question ID = 2435]

1. 12,500 Hz / 12,500 g<st [Option ID = 10043]
2. 10000 Hz / 10000 &< [Option ID = 10041]

3. 12,628 Hz / 12,628 g¢T [Option ID = 10042]
4, 13,265 Hz / 13,265 &<t [Option ID = 10044]

Correct Answer :-
o 12,628 Hz / 12,628 &<t [Option ID = 10042]

77) A transistor when connected in CE mode has:-



TF Ziforeet o1 H1$ A3 # 37 81aT ¢ Y $6H:- [Question ID = 2451]

1. A medium input resistance and high output resistance / Teh HEIH ga7qe iRy 3R 3o 3M3eqe Giae giar &
[Option ID = 10108]

2. A low input resistance and a low output resistance / @& geTqe JcRTer 3R e H3eYe TR giar & [Option ID
= 10105]

3. A low input resistance and high output resistance / Teh & g=19e Ffcirer 3R 3T 3T3eqe JfaRIer giar & [Option
ID = 10107]

4. A high input resistance and high output resistance / Teh 3T Se19e TTcRIY 3R 3T 3T3CYE TR gral §
[Option ID = 10106]

Correct Answer :-

+ A medium input resistance and high output resistance / Teh HEIH gaqe IfcRIY 3R 3T 3M3eqe FfaRrer giar
& [Option ID = 10108]

78) Electrodes used for welding aluminium alloys are:-

afeser vegeifaasr B & fore yier B st arer seweisw -
[Question ID = 2432]

1. Tungsten copper / &3rEesT draT [Option ID = 10031]

2. None of these / 35781 & &1s off 18T [Option ID = 10032]

3. Cadmium copper / &sfAz# AreT [Option ID = 10029]

4. Hard drawn copper / &f&=TdT & @iar aram atsT [Option ID = 10030]

Correct Answer :-
« Hard drawn copper / &f&sIdT & @i a7 drer [Option ID = 10030]

79) Fork lift truck is used for

B fwe o 1 39T & fore faar srar 8| [Question ID = 2459]

1. Lifting and lowering / 33T 3iX &i<r & [Option ID = 10137]

2. Opposite transportation / 379ifoie gi@aEere [Option ID = 10139]

3. Horizontal transportation / gTReileed erEadIcere [Option ID = 10138]
4. Flying / %eITgaT [Option ID = 10140]

Correct Answer :-
« Lifting and lowering / 3&TeT 3iX & &3 [Option ID = 10137]

80) Load carrying capacity of belt conveyor is about:-

o FAW T A5 HRT a7d7aT Fem39r A=t -
[Question ID = 2371]

1. 20 to 40 tonnes/hr / 20 & 40 T=i/&eT [Option ID = 9785]

2. 100 to 150 tonnes/hr / 100 & 150 &=A/&eT [Option ID = 9787]
3. 150 to 200 tonnes/hr / 150 & 200 &=1/&eT [Option ID = 9788]
4, 50 to 100 tonnes/hr / 50 & 100 &=1/€eT [Option ID = 9786]



Correct Answer :-
« 100 to 150 tonnes/hr / 100 & 150 &=1/&eT [Option ID = 9787]

81) Voltage drop in an alternator can be determined by which of the following factor?

TH Heclaied A alees 39 e R & & AuiRa fFar 5T @ar §2 [Question ID = 2484]

1. Power factor x load current / 91ax thaeX x &g @c [Option ID = 10239]

2. Power factor x (load current)2 / 91X €ca x (ells Fc) 2 [Option ID = 10240]
3. Load current / &8 &e [Option ID = 10238]

4, Voltage drop of the load / &1 T 91aX g¢e [Option ID = 10237]

Correct Answer :-
« Load current / g @c [Option ID = 10238]

82) Self induced voltage of a current carrying coil which is wound on iron core having 1A current is
independent of

TF W & PR R e gan Fre, S wie 1A vaid @ w1y, A v ofe dtees ¥ FaaT g B
[Question ID = 2358]

1. Number of turns of coil / &iarel & HISt ST FEAT [Option ID = 9735]

2. Variation in current / @3 & f=dr [Option ID = 9733]

3. Variation in voltage to the coil / H1Iel & aleest FI fRe=Iar [Option ID = 9734]
4. The resistance of magnetic path / I 9 & FfcRIer & [Option ID = 9736]

Correct Answer :-
« Variation in voltage to the coil / &1Iel & diecst s [@a1ar [Option ID = 9734]

83) Pugga valley in Ladakh is suitable for which of the following power generation?

aerE # Fya geon ard), faww & & fra fagga scures & faw sugwa 82
[Question ID = 2433]

1. Wind / arg [Option ID = 10035]

2. Solar / € [Option ID = 10034]

3. Geo thermal / 8- [Option ID = 10033]
4, All of these / 3T fdsed [Option ID = 10036]

Correct Answer :-
* Geo thermal / 8-aTdr [Option ID = 10033]

84) Due to overdamping, the instrument will become:-
HIEGATAIT & FHROT STHIT §Y SATTI: -
[Question ID = 2489]

1. Both Lethargic and Slow / '{R—T—fﬁ? AT gt [Option ID = 10260]



2. Fast / dst [Option ID = 10258]
3. Slow / &f/AT [Option ID = 10259]
4. Lethargic / g&d [Option ID = 10257]

Correct Answer :-
+ Both Lethargic and Slow / §&d 3iR &ffaAT 2t [Option ID = 10260]

85) Hall effect may be used for which of the following?

T & @ fFaS T gier {1 T 39197 FAT AT FhaT 272

[Question ID = 2467]

1. Detecting aircraft communication signals / &1 AR Fehdl ST IdT &1 [Option ID = 10172]

2. Determining the carrier concentration / aTgeh sl T TAURUT #3=TT [Option ID = 10170]

3. Determining whether the semiconductor is p or n type / TR T foh 3reTameres Y I7 T YehR &7 & [Option
ID = 10169]

4. Calculating the mobility / 3Tfcrefierar & 10T &= [Option ID = 10171]

Correct Answer :-

« Determining whether the semiconductor is p or n type / f&TRd =T T 3r¢=aTeres Ut AT T YR T &
[Option ID = 10169]

86) Hysteresis loss in a transformer is proportional to which of the following quantity?

THERR # RERET 1w s & § 5w A & smeqafas #2 [Question ID = 2487]

1. Bmax [Option ID = 10249]

2. Bmax1-6 [Option ID = 10250]
3. Bmax0.6 [Option ID = 10252]
4. Bmax1-0.6 [Option ID = 10251]

Correct Answer :-
e Bmax1-6 [Option ID = 10250]

87) A power supply should possess an ideal voltage regulation which is equal to and
practical voltage regulation measuring

o fasrelt @ et # v eet Ao RAfATTT ¥ TR gt TIfReT AR saraEeE aeesr
R 1 A9 T TifRT|

[Question ID = 2479]

1. Small value, zero / Bier Hed, =T [Option ID = 10218]
2. Zero, small value / =1, ®¥T Ha [Option ID = 10217]
3. Zero, zero / T, LT [Option ID = 10219]

4. Large value, zero / 5T #eF, [=F [Option ID = 10220]

Correct Answer :-
» Zero, small value / =3, BIeT #e [Option ID = 10217]



88) A D.C. series motor is that which:-

T SRt WHisr Alex ag § 5w - [Question ID = 2490]

1. Has a poor torque / WIS € &dT & [Option ID = 10262]

2. Has its field winding consisting of thick wire and less turns / ®IEl dR 3R % GATT A F=1T T &1 GATGER
gIdar g [Option ID = 10261]

3. Has almost constant speed / S13T879T faR 31Tl & [Option ID = 10264]

4, Can be started easily without load / 3Tt & fo=T &1 & TelmaT ST TehdT & [Option ID = 10263]

Correct Answer :-

» Has its field winding consisting of thick wire and less turns / HIEI AR 3R & GATT A TeT SHAT & FATAER
21am & [Option ID = 10261]

89) Which coupling is very expensive?

HIH AGIT HUTAIT HleT A § ? [Question ID = 2448]

1. Transformer / EE®FR [Option ID = 10096]
2. Stamp / T&FT [Option ID = 10094]

3. External / sT&<r [Option ID = 10095]

4, Control / f&==0T [Option ID = 10093]

Correct Answer :-
« Transformer / /AR [Option ID = 10096]

90) Which type of following product is used to make insulation in spark plugs?

TAT CodT H gt & fAT ger & A frwent 393 glar 82 [Question ID = 2471]

1. Nickel alloy / feieher T4 &7 [Option ID = 10186]

2. None of these / 3=T37 & @I #Y sTgl [Option ID = 10188]
3. Porcelain / 9if&eeT [Option ID = 10185]

4. Glass fiber / ®wrgsx fremar [Option ID = 10187]

Correct Answer :-
« Porcelain / 9if&eisT [Option ID = 10185]

91) To minimise loss due to hysteresis, the magnetic material should have?

RERET & FROT 1A arelt a1 't F7 F1 F AT Jahra gard g afew?
[Question ID = 2423]

1. High resistivity / 3Ta gfaRiersar [Option ID = 9995]

2. High retentivity / 3T aifaefierar [Option ID = 9996]

3. Low hysteresis coefficient / & Ao T{[UW [Option ID = 9993]
4. Large B-H loop area / 83 sT-Tg faurer &= [Option ID = 9994]

Correct Answer :-
» Low hysteresis coefficient / s& Af¥er oM [Option ID = 9993]



92) A conductor of length L has current I passing through it, when it is placed parallel to a magnetic
field. The force experienced by the conductor will be?

FAFETE U & UF 5Tl H W He I IO @1 ¢, T 3 a1 477 & FATR TN ATl §| FSFeT GaRT HJHa
T I T§ §1?

[Question ID = 2348]

1. BLI / §rwer3ms [Option ID = 9694]

2. B2LI / §2uer3ms [Option ID = 9695]

3. Zero / =7 [Option ID = 9693]

4, None of these/ 3s781 & s 3 sTET [Option ID = 9696]

Correct Answer :-
* Zero / =" [Option ID = 9693]

93) Another name for a unity gain amplifier is?

A& AT TFIAERR F e o 3w A 872
[Question ID = 2436]

1. Voltage follower / afe<st 3119T [Option ID = 10047]

2. Difference amplifier / 37X T&TeIHaR [Option ID = 10045]
3. All of these / T3 Tdahed [Option ID = 10048]

4. Comparator / Hedelsh [Option ID = 10046]

Correct Answer :-
« Voltage follower / aYe<sT 3fefam#T [Option ID = 10047]

94) If field current of a three phase alternator is reversed, what happens to its phase sequence?

T fiet =TT e & &1 FIC HT Iocl T &d &, df SHF =0T e T 74T §1aT &2 [Question ID = 2482]

1. Remains same / T & IgdT & [Option ID = 10230]

2. Reverses / 3T g SITdT & [Option ID = 10229]

3. Two phases are exchanged / &F TRUT ST 3TETeT-YeTsT fohaT SITaT § [Option ID = 10231]
4. It becomes ac motor/ Ig THI AeX &1 ST & [Option ID = 10232]

Correct Answer :-
« Remains same / T & T&dT & [Option ID = 10230]

95) Find the current flowing through resistor R3?

R3 AT § 75 g are $ a7orem F|
[Question ID = 2394]

1. 1.95 mA [Option ID = 9877]
2. 2.5 mA [Option ID = 9879]
3. 2 mA [Option ID = 9878]

4. 1.55 mA [Option ID = 9880]



Correct Answer :-
e 1.95 mA [Option ID = 9877]

96) Find the current flowing through resistor R2?

R2 YfAFeT & T5a Regd vare i ot FX|
[Question ID = 2393]

1. 5 A [Option ID = 9876]
2. 2A [Option ID = 9873]
3. 1.51 A [Option ID = 9875]
4. 1.25 A [Option ID = 9874]

Correct Answer :-
e 1.51 A [Option ID = 9875]

97) Find the current flowing through resistor R1?

R1 YT & T8 Rega var i aroren w1
[Question ID = 2392]

1. 440 microA [Option ID = 9869]
2. 445 mA [Option ID = 9871]
3. 442 mA [Option ID = 9872]
4. 442 microA [Option ID = 9870]

Correct Answer :-
* 442 microA [Option ID = 9870]

98) Find symmeterical breaking current of a three phase circuit. 33 kV oil circuit breaker is rated
1200 A, 2000 MVA, 3s.

e TRor IRTY F FATAST 3fFT yarg F @9, 33 F a7 T 95T $1,1200 T, 2000 THAT, 3 I fFIT =T
¢l

[Question ID = 2434]

1. 35 kA [Option ID = 10040]

2. 3600 A [Option ID = 10037]
3. 104.8 Ka [Option ID = 10039]
4. 1400 A [Option ID = 10038]

Correct Answer :-

o 35 KA [Option ID = 10040]

99) Find the voltage across resistor R2?

R2 IRATET & IR Ffaer Y 10r1 FY



[Question ID = 2396]

1. 7.078 V [Option ID = 9887]
2. 5.5V [Option ID = 9885]
3.7 V [Option ID = 9886]

4. 2.078 V [Option ID = 9888]

Correct Answer :-
e 7.078 V [Option ID = 9887]

100) Find the voltage across resistor R1?

R1 YRATET & 9 gfarier Y arorar #3)
[Question ID = 2395]

1. 2.5 V [Option ID = 9883]
2. 2 V [Option ID = 9882]

3. 3.5 V [Option ID = 9881]
4. 2.078 V [Option ID = 9884]

Correct Answer :-
o 2.078 V [Option ID = 9884]

101) Find the voltage across resistor R3?

R3 AT & IR FfaRYer Y Iorar 1
[Question ID = 2397]

1. 2.922 V [Option ID = 9890]
2. 2.5V [Option ID = 9891]
3. 3.5 V [Option ID = 9889]
4. 2.078 V [Option ID = 9892]

Correct Answer :-
e 2.922 V [Option ID = 9890]

102) Synchronizing power of a synchronous machine is:-

T qedatad Al T Jeastias afFd gl -

[Question ID = 2377]

1. equal to the synchronous reactance / dedehleeh RUEH o sXTs] [Option ID = 9811]

2. inversely proportional to the synchronous reactance / Jedehlelsh RuFea & faada egc9es1 [Option ID = 9810]
3. direcly proportional to the synchronous reactance / JeashTersh RuarcH & WY 3TIuTid [Option ID = 9809]

4. Greater than synchronous reactance / dedehleieh RUFSH & T [Option ID = 9812]

Correct Answer :-

+ inversely proportional to the synchronous reactance / Jedeleis RUeH o faqdicd sgcde=1 [Option ID =
9810]



103) Amount of current flowing in the circuit having 12V battery source and single resistor of
resistance 24k.

12V deft 319 31X 24k & vrd yfaie gt gfaius & IRUY F yaifgd @1 arel garg 1 A |
[Question ID = 2429]

1. 50 mA [Option ID = 10018]
2. 288 kA [Option ID = 10020]
3. 2 kA [Option ID = 10019]
4. 500 A [Option ID = 10017]

Correct Answer :-
* 500 A [Option ID = 10017]

104) Amount of electricity consumed by a 100 Watt bulb (in the ON state for 10 hours) is:-

T 100 Jic & dod gaRT (2o B { ITe] 3EAT H) @I $I A1t fstell Ht AT 8:-
[Question ID = 2427]

1. 100 Watts per Hour /100 afe gfaeer [Option ID = 10012]

2. 100 Watts / 100 dfe [Option ID = 10011]

3. 1kWh = 1 Unit of electricity / 1 feheitare = frstell @ 1 fwie [Option ID = 10010]
4, 1000 Watts (1kW) / 1000 afe (1 freltare) [Option ID = 10009]

Correct Answer :-
« 1kWh = 1 Unit of electricity / 1 feheltare = fasTelt &1 1 Ifie [Option ID = 10010]

105) Value of relative permeability for ferromagnetic material is:-

S FARE AT A Rafes AR 6 deg. el 1
[Question ID = 2398]

1. More than one / T & 3f&% [Option ID = 9893]

2. More than 100 or 1000 /100 J1 1000 & 37f& [Option ID = 9895]
3. Less than one / T& & &# [Option ID = 9894]

4, None of these/ =78 & I 3T sIET [Option ID = 9896]

Correct Answer :-
« More than 100 or 1000 / 100 3T 1000 ¥ 31f¥% [Option ID = 9895]

106) Among these alternatives, PIV rating of which diode is lower than that of equivalent vacuum
diode?

3o el 7 @, frw srats & Ransdh IR F gorgew davw srils A oo A w82

[Question ID = 2456]



1. PN junction Diode / 9ueT SierersT 31418 [Option ID = 10126]
2. Crystal diode / fsheeer 3118 [Option ID = 10125]

3. Tunnel diode / g 31a1S [Option ID = 10128]

4. Small single diode / BIEY Tehel STAIS [Option ID = 10127]

Correct Answer :-
o Crystal diode / fsheeer 3118 [Option ID = 10125]

107) Output voltage of regulated power supply can be altered by changing which of the following?

frafaf@a # & Fa1 e Wrees Rerelt smqfet & 3mseqe dieesr 1 wage F3ar 82 [Question ID = 2478]

1. Injected voltage / 918 alecst [Option ID = 10214]
2. Load current / &g &e [Option ID = 10213]

3. All of these / T3ff Tased [Option ID = 10216]

4. Temperature / d9ATT [Option ID = 10215]

Correct Answer :-
o All of these / T3 fased [Option ID = 10216]

108) For a certain transistor , if the value of Beta is equal to 500 and Base current is 5mA , then the
value of Emitter current is:-

v fafRaa giforeet & farw, afe dier %7 A1 500 F ara? § 3R 7 4T 5mA g, at vie Fe FT A 8i-
[Question ID = 2386]

1. 2.5A [Option ID = 9845]
2. 2A [Option ID = 9847]

3. 3A [Option ID = 9848]

4. 2.505A [Option ID = 9846]

Correct Answer :-
o 2.505A [Option ID = 9846]

109) For the transmission of heat from one body to another.

FEHT $T TS a1s1 & gAY T F=0T & fAv|
[Question ID = 2376]

1. temperature of the two bodies must be different / @leit aE31 T ATIAT 37617 gl AT [Option ID = 9805]

2. at least one of the bodies must have some source of heating / & & &H T&h TE] T AT HT S ard grelr
1T [Option ID = 9808]

3. both bodies must be in contact / 2wt aEJT H9eh H glel TRT [Option ID = 9807]

4. both bodies must be solids / &l=it IEJT a1 gl=it =TRT [Option ID = 9806]

Correct Answer :-
« temperature of the two bodies must be different / &t a&c3il T ATIATT 376197 glAT =TET [Option ID =
9805]



110) Power dissipation and efficiency of series type switching regulator should follow which trend
respectively?

el Rafifar Wrearet # e} ey 3R FrbarHar F1 fry vgfed 1 srgaror #ar aifge?
[Question ID = 2477]

1. Increasing, increasing / g7& g%, gf& gS [Option ID = 10209]
2. Increasing, reducing / aﬁ:{g‘g, %‘Hgﬁz[Option ID = 10210]
3. Decreasing, decreasing / & §é, A gé‘ [Option ID = 10212]
4. Reducing, increasing / aw‘ﬂgé, gfg gé [Option ID = 10211]

Correct Answer :-
« Reducing, increasing / a#rgé, gfg §‘é’ [Option ID = 10211]

111) Why trickle charging of the batteries is done?

IO i Rper fstar F4i w33 82
[Question ID = 2359]

1. Increase its power storage capacity / ST AT &HdT Sl & TlT [Option ID = 9738]

2. Keep it fresh and fully charged / 3& aTsiT 3R 9t a¥E @Tet 1@ & faw [Option ID = 9740]

3. Maintain proper electrolyte level / 3Tad SelFelelise ¥R ST W« & folT [Option ID = 9737]
4. To maintain even current in battery / §e3f & 8aa aic W= & foT [Option ID = 9739]

Correct Answer :-
» Keep it fresh and fully charged / 38 drair 3R 98 & =Ml {@a & forw [Option ID = 9740]

112) What will the hysteresis loss in the material when the area of hysteresis loop of a material is
large?

T T garet & RSN qrer &7 &3 9371 § &Y 39 e & R RAw et frder gem?
[Question ID = 2402]

1. Small / =g [Option ID = 9909]

2. All of these / 3T fdshew [Option ID = 9911]

3. None of these / 378 & =g #Y sTEY [Option ID = 9912]
4, Large / 3T [Option ID = 9910]

Correct Answer :-
e Large / 13T [Option ID = 9910]

113) What will the voltage across resistance R1?

gfarIas R1 # aleesT 41 g19I?
[Question ID = 2415]

1. 4.759 V / 4.759 dree [Option ID = 9961]
2. 4.898 V / 4.898 diee [Option ID = 9963]



3. 4.5V / 4.5 aree [Option ID = 9962]
4.5V / 5 3ree [Option ID = 9964]

Correct Answer :-
e 4,898 V / 4.898 dree [Option ID = 9963]

114) What will the voltage across resistance R3?

gfaIars R3 # dleesr 4T g9I?
[Question ID = 2416]

1. 5.250 V / 5.250 atee [Option ID = 9966]
2.5.125V / 5.125 dtee [Option ID = 9965]
3. 5.5V / 5.5 atee [Option ID = 9967]

4,5.102 V / 5.102 drec [Option ID = 9968]

Correct Answer :-
« 5.102 V/ 5.102 dree [Option ID = 9968]

115) What are the elements of Nucleus of an atom?

YIATY] & T AT & dcd F41 82
[Question ID = 2464]

1. Both neutron and proton / #ggist 3iR Welet &l [Option 1D = 10160]
2. Neutron / #ggieT [Option ID = 10157]

3. Electron / SeierereT [Option ID = 10159]

4. Proton / 9elel [Option ID = 10158]

Correct Answer :-
« Both neutron and proton / #gieT 3R WeleT &l [Option ID = 10160]

116) What happens internally in atomic level when external electric field is applied to an intrinsic
semiconductor?

ITARE T ¥ IIATY] T T AT g1aT ¢ Afe a1ed) Rega & 1 Arafe Fehidrsaex W oy R ser 82
[Question ID = 2361]

1. More number of electron holes pair combination will be evolved / SolercisT &g ST TAYeTe & 31 Fear
T fad g SmusfY [Option ID = 9746]

2. More number of electron holes pair combination will be broken / Feleriet T SYST FHYateT 1 31fRreh HEaT ¢
STat [Option ID = 9745]

3. No electron holes pair combination will be broken / elereleT T SIET HATSTeT sT&T €23l [Option ID = 9747]

4, Tt will behave as extrinsic semiconductor / g STed 74T F T I TR FHIM [Option ID = 9748]

Correct Answer :-

+ More number of electron holes pair combination will be broken / SetFelet f&g SIS HAIT $r 3t Fear ¢
Siraeft [Option ID = 9745]



117) What will be the value of susceptibility when the curie constant value is 0.2 and the difference
in critical temperature and paramagnetic curie temperature is 0.01?

ST F8 e AT 0.2 7 3 8T araerer qur srqdaeT Fl aTeeArT 7 3a¥ 0.01 § O Hdeeeiierar F1 AT 47
grem?
[Question ID = 2418]

1. 2 [Option ID = 9976]

2. 200 [Option ID = 9974]
3. 0.02 [Option ID = 9973]
4. 20 [Option ID = 9975]

Correct Answer :-
e 20 [Option ID = 9975]

118) What will be the capacitance of a capacitor if the charge stored on it's plates is large?

FUTRT Y FATS F41 @9l TG s el W AR @1 arelT Iret 9T gt 82
[Question ID = 2411]

1. Small / ®XEr [Option ID = 9946]
2. Zero [ [ [Option ID = 9948]
3. Large / 9/3Y [Option ID = 9945]
4, Infinite / 37T [Option ID = 9947]

Correct Answer :-
o Large / 913 [Option ID = 9945]

119) What would be the computational value of feedback voltage in a negative feedback amplifier
with A = 100, B = 0.03 and input signal voltage = 30 mV?

T = 100, B = 0.03 3iX 379¢ Fa Aecsr = 30 THAN & WY T AHNICHT TAfHhaT TrqeerR 7 gfafar aees
T HIAVTcHF Hed F4T 1?2

[Question ID = 2357]

1. 0.06 V [Option ID = 9730]
2. 0.03 V [Option ID = 9732]
3.0.09 V [Option ID = 9729]
4. 0.15 V [Option ID = 9731]

Correct Answer :-
e 0.09 V [Option ID = 9729]

120) What is the expression of capacity of a battery?

A Fr a7HaT & v I FAT 2

[Question ID = 2342]



1. Voltage rating / atecst IfEaT [Option ID = 9669]

2. Ampere-hour rating / TFIIR-3R If&eT [Option ID = 9671]
3. Frequency rating / fSrerdY YfEaT [Option ID = 9670]

4, Current rating / &<e f&ar [Option ID = 9672]

Correct Answer :-
 Ampere-hour rating / TFIIX-3R 3T [Option ID = 9671]

121) What is the resistivity of lead?

HRY Y gfaRrersar #4182
[Question ID = 2412]

1. 5Q m [Option ID = 9951]
2.22.5 x 108 Q m [Option ID = 9952]

3.20.8 x 108 Q m [Option ID = 9949]
4,10 Q m [Option ID = 9950]

Correct Answer :-
« 20.8 x 108 Q m [Option ID = 9949]

122) What is the time constant of a series R-C circuit?

TF @ H-H TRy w1 P @677 Far 82
[Question ID = 2424]

1. RC [Option ID = 9997]
2. R2C [Option ID = 9998]
3. RC2 [Option ID = 10000]
4. R/C [Option ID = 9999]

Correct Answer :-
* RC [Option ID = 9997]

123) What is the ratio of copper required for 4-wire 2-phase ac system to an equivalent 2-wire DC
system?

2-a1a7 Sl RAFeH & aUat 4-ar 2-%r Tt RTed & fT 3raras i &1 JHeard #7471 62

[Question ID = 2491]

1

2cos~¢@ _
1. [Option ID = 10266]

cos“@
2. [Option ID = 10268]



[Option ID = 10267]

_ Jeos'y
2

COS "
4, @ [Option ID = 10265]

Correct Answer :-

1

2cos?
. ¢ [Option ID = 10266]

124) What is the equation for kW rating calculation in a battery charger using taper method?

v dl AR 7 o F Rt F1 3wahr FE fretare W #1 swes #a & fow aefteor GRS
[Question ID = 2382]

1. KW = (N* Ah * 2.25 *0.225 * 0.6 ) / 1000 [Option ID = 9831]
2. kW = (N* Ah * 2,25 *0.225 * 0.8 ) / 1000 [Option ID = 9829]
3. KW = (N* Ah * 0.25 ¥0.225 * 0.8 ) / 1000 [Option ID = 9830]
4, None of these/ 3s781 & s 3T sTET [Option ID = 9832]

Correct Answer :-
e kW = (N* Ah * 2,25 *0.225 * 0.8 ) / 1000 [Option ID = 9829]

125) What is the value of current in parallel RLC circuit under resonance condition?

Frgare i Reufy & gamaiaR smwer wffe & faggd v #1 qe7 #4182
[Question ID = 2405]

1. Zero / =T [Option ID = 9923]

2. Minimum / =g«Id# [Option ID = 9921]

3. Maximum / 31f&&da# [Option ID = 9922]

4. None of these/ 38 & is &Y &I [Option ID = 9924]

Correct Answer :-
* Minimum / #gs7cd# [Option ID = 9921]

126) What is the SI unit of conductivity?
ATeThdl $T THITS FHIS FAT¥?
[Question ID = 2410]

1. Q!m [Option ID = 9942]
2. Q' Im ! [Option ID = 9943]
3. Q [Option ID = 9941]

4. Q m [Option ID = 9944]



Correct Answer :-
o O lm 1 [Option ID = 9943]

127) What is the ranging capacity of the diesel plant?

ATl T Y &7 F4T §?
[Question ID = 2440]

1. 100 - 1175 kW / 100 -1175 feftare [Option ID = 10062]
2. 150 - 750 kW / 150 -75 foreitare [Option ID = 10061]

3. 150 - 4500 kW / 150 - 4500 fereitate [Option ID = 10064]
4. 75 - 3750 kW / 75 -3750 freftare [Option ID = 10063]

Correct Answer :-
e 75-3750 kW / 75 -3750 freliare [Option ID = 10063]

128) What is the equivalent of ferromagnetic curie temperature for iron in terms of Kelvin?

I & foT Feae # Sdfes Fi araars &1 aaFat a1 8?2
[Question ID = 2469]

1. 1418 [Option ID = 10177]
2. 1095 [Option ID = 10180]
3. 995 [Option ID = 10178]
4. 770 [Option ID = 10179]

Correct Answer :-
e 1095 [Option ID = 10180]

129) What should be the size of the slide wire of the potentiometer to make it to achieve high
accuracy?

3 AT YTed F3a F fAT, TF d19 ATGT I FT TASS dR FAT1 g1 afge?
[Question ID = 2365]

1. as long as possible / TS« 8T Teh 3T o [Option ID = 9761]

2. as short as possible / fST=T & Teh 3«1 BIer [Option ID = 9762]

3. 1 meter / T HIeX [Option ID = 9763]

4. neither too thin nor too thick / #T @r g Tetel IRATE qgT Tisr [Option ID = 9764]

Correct Answer :-
« as long as possible / T g Teh 3T e [Option ID = 9761]

130) What does S in 'IP 11S’ represent?

'IP 11S' & S &7 E2TaT §?



[Question ID = 2380]

1. Machine was tested when not running condition / Tefe arelr fEAT o7 glet IR F2MeT T TreToT fhaT 31T [Option
ID = 9822]

2. Machine was tested when it was in running / Telel & gRTT FRfeT ST T1870T fhaT araT [Option ID = 9821]

3. Machine was tested at light load / & IR IR #7MT S XI&ToT fohar arar| [Option ID = 9823]

4, None of these / 378 & F1$ off &Y [Option ID = 9824]

Correct Answer :-

« Machine was tested when not running condition / Tefet areil AT o7 glet OX FLMTeT a1 greqoT fohar arar
[Option ID = 9822]

131) Commutator motors have:-

FFYLT A # I g 8:-
[Question ID = 2353]

1. Absolutely uniform torque / fSefsher Tsh HaTeT €réh [Option ID = 9713]

2. Approximately uniform torque / S13T$TeT Teh THTA &I [Option ID = 9714]
3. Non-uniform torque / 3T/H#T &I [Option ID = 9715]

4, None of these / 35137 & 15 it /18T [Option ID = 9716]

Correct Answer :-
« Non-uniform torque / 3/H#T & [Option ID = 9715]

132) Which of the following parts in a DC motor can bear maximum temperature conditions?

A AR FT AT F @ Fiaar fEwr 30w A= sa IFar &2 [Question ID = 2488]

1. Field winding / gATaCR &1 [Option ID = 10255]
2. Brushes / s2T [Option ID = 10254]
3. Armature winding / Hﬁﬂ?%ﬂﬁ'c{ﬂ [Option ID = 10256]

4. Field magnets / $res #aate [Option ID = 10253]

Correct Answer :-
» Field winding / HTdER &7 [Option ID = 10255]

133) Which of the following phenomenon shows the regulation of an alternator?

T Heetaed A A e & § i<t yiHar geid 2 [Question ID = 2481]

1. The increase in terminal voltage when load is thrown off / ST& @IS teh =T SITaT § o« EffeTel dlecst & gig
[Option ID = 10227]

2. The variation of terminal voltage under the conditions of over and under excitation / 31frerc# 31X =geTcdH
3caoteT 1 IRTEATIAT F dgd effiarer drecst Fir fR==dr [Option ID = 10226]

3. Terminal voltage at zero power factor / Q=3 UTaR thereT 7 ZfHAeTel aledst [Option ID = 10228]

4, The reduction in terminal voltage when alternator is on full load / 3TecIsieX &IS 8l W cfFeTol dlecsl & HAT
[Option ID = 10225]

Correct Answer :-



« The increase in terminal voltage when load is thrown off / 51§ @13 % f&a ST § A ffea dlocat & ghg
[Option ID = 10227]

134) Which one is increased when negative feedback voltage is applied to an amplifier?

ST W FIT 98dT § I HUMcAS FIsa® dlecsl Th TFINHRET A 9 ST 82 [Question ID = 2445]

1. Input impedance / $+T9c FfdsTer [Option ID = 10082]

2. Output Impedance / 33 i [Option ID = 10081]
3. Voltage gain / @lecsT sgl=T [Option ID = 10084]

4, Impedance matching / 9fasTar f&erme [Option ID = 10083]

Correct Answer :-
« Input impedance / gs79¢ YfdsTerr [Option ID = 10082]

135) The transition temperature of mercury is.

9RT T ITEITAT dT9AT € & | [Question ID = 2473]

1. 9.22°K [Option ID = 10194]
2. 18.0°K [Option ID = 10193]
3. 1.14'K [Option ID = 10196]
4. 4.12°K [Option ID = 10195]

Correct Answer :-
e 4,12°K [Option ID = 10195]

136) Region along load line including all points between saturation and cut-off is known as:-

wqfea 3 sras F e weit Mgt AR Az a5a & 91 &1 Y J§ FaT A1 8-
[Question ID = 2462]

1. Saturation region / @dfee &1 [Option ID = 10150]

2. Linear region / Y@ &1 [Option ID = 10151]

3. Cut-off region / 37ce &1 [Option ID = 10149]

4, None of these / 3o18 & FI5 #fr aTgt [Option ID = 10152]

Correct Answer :-
o Linear region / Yf&@ &1 [Option ID = 10151]

137) Gain in kinetic energy is equal to:-

AfAST FAT H AT SHF ST 8:-
[Question ID = 2379]

1. loss in P.E + work against friction / fafast Fait & gifa+avor & fawg w1 [Option ID = 9819]
2. loss in P.E * work against friction / afast FaT & grfarayor & fawg &1 [Option ID = 9820]
3. loss in P.E - work against friction / Feafast 4T & g1fer - a¥or & & 1 [Option ID = 9817]
4, loss in K.E - work against friction / 31fast FaiT 7 &1fa - 90T & fa%g w13 [Option ID = 9818]



Correct Answer :-

« loss in P.E - work against friction / FEfast FaiT & g1far - 0T & f&T® &1eT [Option ID = 9817]

138) Harmonics in any transformer are generated due to which of the following factor?

TF BT # grAtfTd aote & fov feafaf@a # & #ar 77 FRoT 81 ¥%ar 82 [Question ID = 2486]

1. Varying current in the windings / fafega®r # agerdar ac [Option ID = 10247]
2. Varying load / 37eeT @1s [Option ID = 10245]

3. Saturation of core / SR @I A¢eT [Option ID = 10248]

4. Poor insulating properties / WIS §geIfear Giaclsr [Option ID = 10246]

Correct Answer :-
+ Saturation of core / SR I A2 [Option ID = 10248]

139) Current passing through resistor R2:-

yfaers R2 & o aTelt Fc:-
[Question ID = 2414]

1. 1.65 mA [Option ID = 9960]
2. 1 mA [Option ID = 9958]

3. 1.75 mA [Option ID = 9957]
4. 1.25 mA [Option ID = 9959]

Correct Answer :-
e 1.65 mA [Option ID = 9960]

140) The flux of magnetic circuits is analogous to which of the following terms in electric circuit?
% fagga wfie # eafaf@a aeal # ¥ i @1 e gadhry wfe & vare & aregew 82
[Question ID = 2401]

1. Conductivity / TTelerdr [Option ID = 9905]

2. Current density / &TRT gslcd [Option ID = 9907]
3. Current / 9T [Option ID = 9906]

4, E.m.f/ . TH. T% [Option ID = 9908]

Correct Answer :-
e Current / &RT [Option ID = 9906]

141) The range can be increased by using which of the following instrument?

Arafaf@d & ¥ FlF-3 3TFHIT FT 3TN 3yFIN H IS RBEAR F F AT sTdaAT fFan 31 ghar 82
[Question ID = 2363]

1. Energymeters / a1 #ieX [Option ID = 9756]
2. Voltmeters / diecTeX [Option ID = 9755]



3. Ammeters / TFHEX [Option ID = 9753]
4, Current transformers / #c grAWIFAR [Option ID = 9754]

Correct Answer :-
o Current transformers / @3¢ grAWFR [Option ID = 9754]

142) The breaking torque of induction type single-phase energy meter is:-

SeSFUT ThR Thol-thol Fail HIST T 8 {HdT T Ig Il 8-
[Question ID = 2360]

1. Directly proportional to the square of the flux / &g & @7 & ¥ 3TeIdTiceh [Option ID = 9743]

2. Directly proportional to the flux / %aTg & H¥ 37Terfcieh [Option ID = 9741]

3. Inversely proportional to the flux / 9aTg & fadId 31mearfaish [Option ID = 9742]

4. Inversely proportional to the square of the flux / ¥aTg & @31 & TRl 37=7arfcieh [Option ID = 9744]

Correct Answer :-
+ Directly proportional to the square of the flux / 5aTg o &3t o Fier 3TTegaTicieh [Option ID = 9743]

143) The application of Special purpose material handling equipments is:-

Y gASTer wreelt Esfoer 39T T UH ITANT ¢:-
[Question ID = 2460]

1. Both 'Process layout' and ' Line layout' / '9fshaT oI313¢ ' 3R "&l8<T oI3713¢” &l=t [Option ID = 10143]
2. Process layout / 9fshar ei313¢ [Option ID = 10141]

3. Line layout / oT3<T oI313¢ [Option ID = 10142]

4, None of these / 3781 & &I &ff 77T [Option ID = 10144]

Correct Answer :-
o Line layout / @T8eT of3113¢ [Option ID = 10142]

144) The value of the current controlled voltage source, given $=0.8 and i; =9.5mA, is:-

Ife B=0.8 3 i, =9.5mA § &Y Fic faafia ateesr aia #1 Hea gom:-
[Question ID = 2389]

1. 7.6mV [Option ID = 9859]

2. 0.0051mV [Option ID = 9857]
3. 0.0011mV [Option ID = 9858]
4. 8mV [Option ID = 9860]

Correct Answer :-
e 7.6mV [Option ID = 9859]

145) The draught produced by chimney of given height at given outside temperature.



& areft S ameht Rrweht & aredt e (R gam) W sgWRA &) @ ST
[Question ID = 2372]

1. may increase or decrease / §G TehdT & IT TC TehdT & [Option ID = 9792]

2. increases if the chimney gas temperature increases / 379 TIH=IT T FT ITIHA ST § df 96 ST § [Option ID
= 9790]

3. decreases, if the chimney gas temperature decreases / 379R I 3 T ATTHTT Ha & A F &1 ST &
[Option ID = 9789]

4. remains same irrespective of chimney gas temperature / R#T 39 & ATIHT & dTds]c Teh HATT Igdl g
[Option ID = 9791]

Correct Answer :-

« increases if the chimney gas temperature increases / 39R RI#Fs 3G &7 ATIHTA S6dT ¢ df 96 Sl & [Option
ID = 9790]

146) The chemical effect of current is used in:-

FC T QAR THIT FaH 3uater Fam srar 2:-
[Question ID = 2362]

1. DC voltmeter / 3 €Y arecHIeT [Option ID = 9752]

2. D.C. ammeter hour meter / ST THHTCX geT #HleX [Option ID = 9749]
3. D.C. ammeter / STEI TAHE [Option ID = 9750]

4. A.C. ammeter / T &I THHICT [Option ID = 9751]

Correct Answer :-
 D.C. ammeter hour meter / SIHT THHICY ger HieX [Option ID = 9749]

147) The open circuit voltage of any storage cell depends on which among the following?

(i) chemical constituents
(ii) strength of its electrolyte
(iii) temperature

Tt off $73oT Qe F1 et Aibe Ao T AE X 39 W e Far 82

(i) TEEfAE gew
(i) 3T FAFCIATSC FT AR

(i) ara#TT
[Question ID = 2344]

1. (i), (i) and (iii) / (i), (ii) 31 (iii) [Option ID = 9680]
2. (ii) and (iii) / (ii) 31 (iii) [Option ID = 9679]

3. (i) and (ii) / (i) 31K (ii) [Option ID = 9678]

4, only (i) / &% (i) [Option ID = 9677]

Correct Answer :-

« (i), (i) and (iii) / (i), (i) 3R (iii) [Option ID = 9680]



148) At what angle difference is the main winding and the start winding separated in a spilt phase
capacitor start induction motor?

franfora avor wemia (Fofliey) TR $sFe AT # Rrae FI0T e W AT gAEER AHR TUF gATEaER Ry
A ?
[Question ID = 2383]

1. 30° mechanical / 30 f33ft #FfAer [Option ID = 9836]
2. 90° electrical / 90 33T seifdeanel [Option ID = 9834]
3. 45° electrical / 45 f33f seifdcarer [Option ID = 9833]
4, 45° mechanical / 45 33t #feerer [Option ID = 9835]

Correct Answer :-

 90° electrical / 90 f33f seifdFearer [Option ID = 9834]

149) Calculate the minimum sampling rate to avoid aliasing when a continuous time signal is given
by:- x(t) = 5 cos 400nt

3G @ T & fAT SeTad AHAT & AT I Y, 79 TF fad G877 Fha x(&)) = 5 cos 400nt ZaRT 24T SAran
¥

[Question ID = 2438]

1. 100 Hz / 100 g<sT [Option ID = 10053]
2. 250 Hz / 250 g&sT [Option ID = 10056]
3. 400 Hz / 400 g7 [Option ID = 10055]
4, 20 Hz / 20 g<sT [Option ID = 10054]

Correct Answer :-
« 400 Hz / 400 &<sT [Option ID = 10055]

150) Calculate the Nyquist rate for sampling when a continuous time signal is given by:-
x(t) = 5 cos 100nt +10 cos 200nt - 15 cos 300nt

AHATHOT & foT ASfFaTe g Y A0 FY, 99 TF A AT Tdhd, & G@RT &1 A1 §:-
x(t) = 5 cos 100nt +10 cos 200nt - 15 cos 300nt

[Question ID = 2437]

1. 100 Hz / 100 &7 [Option ID = 10052]
2. 150 Hz / 150 g&sT [Option ID = 10051]
3. 300 Hz / 300 &< [Option ID = 10049]
4, 600 Hz / 600 g&sT [Option ID = 10050]

Correct Answer :-
« 300 Hz / 300 g<<t [Option ID = 10049]

Topic:- UPPCL_Feb18_ JETE_Set02_GA

1)



Which Ministry is responsible for implementation of foreign contribution of regulation act?

i G1 FAATerT RfeTdAa AfRfaTsw F el aee F FRfeaad F AT scawert 2
[Question ID = 381]

1. Ministry of finance / faca #aterar [Option ID = 1741]

2. Ministry of Corporate Affairs / HRUYRE I HATSRT [Option ID = 1743]
3. Ministry of Home Affairs / 313#316!'21 [Option ID = 1742]

4. None of these / sT37 & IS off 7TgT [Option ID = 1744]

Correct Answer :-
» Ministry of Home Affairs / 3] HaTerd [Option ID = 1742]

2) Which battle took place between Babur and Rana Sanga?

araR 3R o gien & i Fia W T3 T2 = ofi?
[Question ID = 390]

1. Haldighati / gegrarer [Option ID = 1778]
2. Ghagra / g19RT [Option ID = 1780]

3. Khanwa / @reTar [Option ID = 1779]

4, Chanderi / @¢d [Option ID = 1777]

Correct Answer :-
« Khanwa / @rear [Option ID = 1779]

3) Which foreign Airlines recently became the first service provider to operate at Srinagar
International Airport?

gTel €1 # Ao gaTé 3732 ) AT UG FI aTe Tgell HAWSEIT AAEdar Fi €@ §2
[Question ID = 385]

1. Lufthansa / @@ [Option ID = 1757]

2. Air Asia / TIX Ui [Option ID = 1760]

3. Etihad / Tfagre [Option ID = 1759]

4, Fly Emirates / elTs UfAked [Option ID = 1758]

Correct Answer :-
o Air Asia / TIX T [Option ID = 1760]

4) Which Indian Ruler became the first to start Hajj Pilgrimage/Yatra at state expenses?

TS & T W FA e / AT Y FI aTell ggell ARAT ATHF FieT 472
[Question ID = 389]

1. Alauddin khilji / 3rem3€1sT f@ersir [Option ID = 1775]
2. Ahmed Shah Abdali / 318#¢ 28 3TsgTell [Option ID = 1776]
3. Aurangzeb / 3iRaTeis [Option ID = 1773]



4. Akbar / 3T [Option ID = 1774]

Correct Answer :-
o Akbar / 3TseX [Option ID = 1774]

5) Which Indian City became the first to have 'Robocop’' for managing traffic issues?

AT & 3 HET & FAT NaIhIq’ 7 FEAAT FIA ATl Ggel HRAT AT FieT AT 82
[Question ID = 386]

1. Indore / &R [Option ID = 1763]

2. Chennai / Y==Ts [Option ID = 1764]

3. Bengaluru / s3Tef% [Option ID = 1761]

4, New Delhi / T8 f&eeir [Option ID = 1762]

Correct Answer :-
« Indore / &R [Option ID = 1763]

6) Which is the first South American country to host summer Olympics?

AsapTele tafEaaa Fr AT FI 1T IgT STaoT FARSY o5 Fia a1 82
[Question ID = 383]

1. Argentina / 3Tsi=elaTT [Option ID = 1749]
2. Chile / f¥relr [Option ID = 1752]

3. Paraguay / tR1ed [Option ID = 1751]

4. Brazil / siTsiter [Option ID = 1750]

Correct Answer :-
« Brazil / siTsiter [Option ID = 1750]

7) Where is the centre for ecological science located in India?
R & TRTufas e g e Rua 82
[Question ID = 394]

1. Mumbai / &% [Option ID = 1794]

2. Bengaluru / s3Tef% [Option ID = 1796]

3. New Delhi / a1t fgeeir [Option ID = 1793]
4, Vellore / deaiX [Option ID = 1795]

Correct Answer :-

« Bengaluru / §3Tef% [Option ID = 1796]

8) Where is the Central Tobacco Research Institute located in India?

FAIT TGTE HTHYTA TEATA HRA & Fegl U 32



[Question ID = 378]

1. Indore / &R [Option ID = 1731]

2. Rajahmundry / Irs/#=¢it [Option ID = 1729]
3. Pune / 9o [Option ID = 1730]

4. Yevatmal / Iad#Tre [Option ID = 1732]

Correct Answer :-
« Rajahmundry / Is/#=¢iT [Option ID = 1729]

9) Where was the All India Muslim League established?

e sl e ofter i TuTge Fol §é ofr?
[Question ID = 392]

1. Dhaka / @t [Option ID = 1787]

2. Lucknow / eT@+3 [Option ID = 1786]
3. Lahore / @TglX [Option ID = 1785]

4, Calcutta / shelehcdr [Option ID = 1788]

Correct Answer :-
o Dhaka / @renr [Option ID = 1787]

10) With the support of which country is the Rawatbhata nuclear power plant set up in Rajasthan?

R Zer & WEANT F AT H JTAATET AR T FAIAT IAT?
[Question ID = 380]

1. U.S.A [ @ged Ireg 31#ish [Option ID = 1740]
2. France / Wi [Option ID = 1737]

3. Russia / ¥4 [Option ID = 1738]

4, Canada / a1t [Option ID = 1739]

Correct Answer :-
e Canada / sdrsT [Option ID = 1739]

11) Silver Tanka and Copper Jital coins were introduced by .

Tord €t AR IR Sitaer & e TART TT 1T |
[Question ID = 377]

1. Firuz Shah Tughlaq / fohIsT @18 JeTere [Option ID = 1727]
2. Sikander Lodi / f&@ax @iér [Option ID = 1728]

3. Tlitutmish / e dfA=r [Option ID = 1725]

4. Abu Bakr Shah / 319 ssh 2Trg [Option ID = 1726]

Correct Answer :-
» Tlitutmish / geddfaer [Option ID = 1725]



12) Doha Development Round is often in news. Which of the following options best describe it?

areT A gt 3T @R # wEar §| v 1w fAwrenl & @ i a1 suewr aed ¥ Ao 2
[Question ID = 382]

1. None of these / 3731 & g 8 5T [Option ID = 1748]

2. Talks at WTO regarding world trade / WTO & 7% eI o a8 H saTddid [Option ID = 1747]

3. Talks regarding international monetary system / 3IcRTSEIT Hifgeh ToTel & Ty & STa<ia [Option ID =
1745]

4, Talks regarding refugee crisis / TRUTT Tehe & Feaey H T [Option ID = 1746]

Correct Answer :-
o Talks at WTO regarding world trade / WTO & g caTIR & TFaey & aradid [Option ID = 1747]

13) Who is the Chairman of Inter State Council and National Water Resources Council in India ?

HRT H IR TsF IR 31T THT sTer o aRve & reget i g2
[Question ID = 395]

1. Prime Minister / T&ITsTHa=4T [Option ID = 1800]

2. Vice President of India / TR & 3ursgdfd [Option ID = 1799]
3. Minister of water resources / STeT T&@Teel #ar [Option ID = 1798]
4, President of India / $TRd & Irseqfa [Option ID = 1797]

Correct Answer :-
 Prime Minister / TeITH=ar [Option ID = 1800]

14) Who was the first finance minister of Independent India?

T HRA & TEd e 7 A Fi 92
[Question ID = 393]

1. Sardar Patel / TR 9cer [Option ID = 1792]

2. Shanmukham Chetty / QITe#{&H €Y [Option ID = 1789]
3. Morarji Desai / ARSI 418 [Option ID = 1791]

4, Jawaharlal Nehru / STarg<elrel #g% [Option ID = 1790]

Correct Answer :-
« Shanmukham Chetty / 2T=&H €T [Option ID = 1789]

15) In which of the following states is the Indian penal code not applicable?
51 @ frw o 7 Rl &3 Wi amep e gvelr?
[Question ID = 396]

1. Tripura / g3 [Option ID = 1803]
2. Sikkim / f&fFaar [Option ID = 1802]



3. Jammu and Kashmir / 5% 31X &2# [Option ID = 1804]
4, Nagaland / iTeTrels [Option ID = 1801]

Correct Answer :-
+ Jammu and Kashmir / ST 3R &2#R [Option ID = 1804]

16) In which year did the Surat split of Indian National Congress took place?

HREATT TSET T HT I AT A FIer g3 412
[Question ID = 388]

1. 1911 [Option ID = 1770]
2. 1909 [Option ID = 1769]
3. 1907 [Option ID = 1771]
4. 1905 [Option ID = 1772]

Correct Answer :-
« 1907 [Option ID = 1771]

17) Electronic Voting Machines (EVM) is manufactured in India by:-
gaFeia® aifear wefieT (EVM) &1 AT Rd & Sl w31 82
[Question ID = 391]

1. Both BEL & Electronics Corporation of India / BEL T R & Selarelieidd fo1areT [Option ID = 1783]
2. BEL only / shder BEL gaRT [Option ID = 1781]

3. Electronics Corporation of India Only / &hadl TRd & Seagliaard {91 garT [Option ID = 1782]

4. None of these / <737 & IS &ff 7TgT [Option ID = 1784]

Correct Answer :-
« Both BEL & Electronics Corporation of India / BEL Td $1Rd & Solaclieiard {19137 [Option ID = 1783]

18) Doongri festival is celebrated in which state of India?

Y U TR F FE U= F AATIT ATaT 82
[Question ID = 384]

1. Assam / 31@H [Option ID = 1756]

2. Himachal Pradesh / fgaT=rer 9c2r [Option ID = 1754]

3. Uttarakhand / 3cakm@s [Option ID = 1755]

4. Jammu and Kashmir / ST&# 31K eI [Option ID = 1753]

Correct Answer :-
« Himachal Pradesh / f@dATae weer [Option ID = 1754]

19) Why did the Simon Commission came to India?

WTSHT FHHIAT HRT F, AT 4T?



[Question ID = 387]

1. To Integrate the Princely states / ISTATST &I TehIeI 0T ¥t [Option ID = 1765]

2. Reviewing polictical Reforms / Irsffeifcier GURT a1 3iTehelet sYat [Option ID = 1768]
3. For the dominion status of India / TR & F8fca &I f&Ufd & foIw [Option ID = 1767]
4, To end Princely states rule / ITaTST & ST ST 37d H=T [Option ID = 1766]

Correct Answer :-
» Reviewing polictical Reforms / Irsifaifcieh URT T 3iTeheleT A [Option ID = 1768]

20) The base year for the new series of IIP, WPI data is .

IIP, WPI 3Tt Y 51t sf@er &7 3maw a¥ gl
[Question ID = 379]

1. 2011-12 [Option ID = 1735]
2. 2010-11 [Option ID = 1734]
3. 2004-04 [Option ID = 1733]
4, 2012-13 [Option ID = 1736]

Correct Answer :-
e 2011-12 [Option ID = 1735]

Topic:- UPPCL_Feb18_JETE_Set02_RS

1) Which of the given series of English alphabets follows the rule that the number of alphabets
skipped between two consecutive alphabets increases by 1 successively?

ST @ A & e HT FieT W H@T $H AIA T GIeaT FIAT § Y &Y FATAR 37N & i 7 F AT 4R Ay
HEAT g7 9K Tk § 96 AT 82
[Question ID = 915]

1. 1) A-C-F-] [Option ID = 3877]

2. 3) Neither 1 nor 2 / 5T ar 1 3fR a & 2 [Option ID = 3879]
3. 4) All of these / @#fr fased [Option ID = 3880]

4, 2) F-]J-0-U-B [Option ID = 3878]

Correct Answer :-
o 4) All of these / @&T fdehed [Option ID = 3880]

2) Which letter of English alphabet should replace the "?" mark?

AT HTNT T FieT AT 78R "?" Reg Y 918 3mTam?



[Question ID = 920]

1. K [Option ID = 3900]
2. B [Option ID = 3897]
3. H [Option ID = 3898]
4. I [Option ID = 3899]

Correct Answer :-
* B [Option ID = 3897]

3) Given below is a question and two statements numbered 1 and 2. Read both the statements and
then decide which statements are sufficient to answer the given question.

Question: Is A2>B2 [GIVEN: A & B are natural numbers]

Statement 1: A is a prime number.
Statement 2: A2 is divisible by 4 and B2 is divisble by 6.

A1 v warer AR 3EW 3 AV FUT 1 vd 11 Rw 1w §| 1 wuwl Y e & 92 AR a7 FY A gard 1 Jae & &
AT 577 & Pl F FuT FIPr |

yeeT: F41 A2>B2 [T &1:A Td B o €& §]

FYA 1: A Uh AHTST TEAT & |
FUT 2: A2 ,4 ¥ Qs & 31 B2, 6 ¥ R ¥

[Question ID = 917]

1. Both 1 & 2/ 1 Ug 2 &=t [Option ID = 3888]

2. Neither 1 nor 2 / ATET 1 A& 2 [Option ID = 3887]
3. Only 1 / sdef 1 [Option ID = 3885]

4, Only 2 / %ad 2 [Option ID = 3886]

Correct Answer :-
e Both1&2/11Tg 2g&r [Option ID = 3888]

4) Given below are two different orientation of the same cubical dice. How many dots are there on
the surface having 5 dots?

A1 v R GeTHR 9T 3 @Y 37T el HTEATIA Y AEAR &Y = E| 5 g arer A A g WE e FeAg W
fraar g §2



[Question ID = 921]

1. 1 [Option ID = 3901]
2. 4 [Option ID = 3903]
3. 3 [Option ID = 3902]
4. 6 [Option ID = 3904]

Correct Answer :-
e 1 [Option ID = 3901]

5) Govardhan is unmarried and is the youngest of two sons of Hiraman who is married to Gitanjali.
Gitanjali is mother in law of Komal a TV actress and Manoj who is married to her daughter Saloni.
Saloni only child is Prakhar a 10 year old boy while Komal has a son Dipak and a daughter Dipali.
Which of the given pair of relatives are from two different generations?

Tiadier amdieer 78 § 3R aF R ey endh afaioreh A g &, & a 9T # A slerder §| Aarereh e srerrr
P 3 T Y e 3EE 34 T @ ¥, A ¢ | Telel Y Tl eare T 10 a¥fT wEenr vaw @
ST FIAT FT T Je7 &g 3T v 38 darel §| R v Recdiert F1 Fia av s &) rerer reer Afeat @ §2

[Question ID = 916]

1. Govardhan, Saloni / Mg, Hellelr [Option ID = 3882]
2. Manoj, Komal / #=iIsT, ®i#er [Option ID = 3881]
3. Prakhar, Dipali / 9@, &xarelt [Option ID = 3883]
4, None of these / 378 & I &ff €T [Option ID = 3884]

Correct Answer :-

« None of these / 378 & &1 8ff Agr [Option ID = 3884]

6) Select from the given Venn Diagrams the one which represent the relation between
"Sportpersons, Fastballers, Cricketers " as exists in the real world.

3 arv 377 3yt A ¥ Fher w1 aeafdw g F san "R, a9 dears, e e & v ¥ areaiE
FFa-Y FY T 7 H gATar §|

o0

(1) (2) (3) (4)
[Question ID = 910]

1. 1 [Option ID = 3857]
2. 4 [Option ID = 3860]
3. 2 [Option ID = 3858]
4. 3 [Option ID = 3859]



Correct Answer :-
o 3 [Option ID = 3859]

7) 1In a class of 48 students two third are girls. Manuj who scored 28™ rank overall is the 9t" topper
among Boys. If each student gets a different rank then how many girls are ranked behind Manuj?

48 Bt 1 FaT # &Y faer$ wasfat §, Ay 1 ¥a Ot Faw 7 28 af i A=F| 7 931 2. IR ¥ o H¥ ¥ e IeAwT
¥ et asfrl A {F Aqar d S §2

[Question ID = 908]

1. 11 [Option ID = 3849]
2. 13 [Option ID = 3851]
3. 12 [Option ID = 3850]
4. 17 [Option ID = 3852]

Correct Answer :-
e 13 [Option ID = 3851]

8) From the option figures 1 to 4 chose the one which exhibits the same relationship with figure "C"
as expressed between figure A and B.

&t arft ey il 1 & 4 # § 98 ol o St aFR "C" & WY IE WFaed Yefia Farg ST A R B F A &
¢l

0 ({1 |®)]

A B

[Question ID = 904]

2>

1.

3 [Option ID = 3835]
2.

2 [Option ID = 3834]
3.

1 [Option ID = 3833]
4. g

4 [Option ID = 3836]

Correct Answer :-



®

4 [Option ID = 3836]

9) Chamanlal is the father in law of Pankaj's father Ashok who is married to Nidhi's daughter Maya.
Chamanla's only son Vivek is married to Aditi and the couple has two daughters Kavya and Varuna.
How is Pankaj related to Vivek?

m%ﬁmmﬂ?ﬁmﬁraﬂﬁﬁﬁaﬁwm#ﬁ% & WYL TATATS § | THAATS & Tahella a¢ i andy ey
¥ g8 ¥ 3R 3w 2 iy &Y AR e 3R Fwom | Joe aT @ O TEaa §?

[Question ID = 907]

1. Maternal Cousins / #AY #1§ [Option ID = 3848]
2. Maternal Uncle / ATAT [Option ID = 3845]

3. Nephew / $11STT [Option ID = 3846]

4. Brother In Law / @TelT [Option ID = 3847]

Correct Answer :-
« Nephew / #TaTT [Option ID = 3846]

10) If Fn(4, 3)=19;
Fn(6, 7)=55;

Fn(5, 8)=53;

Fn(T, 3)=99; then T=?

Iy Fn(4, 3)=19;
Fn(6, 7)=55;

Fn(5, 8)=53;

Fn(T, 3)=99; Y T=?

[Question ID = 914]

1. 28 [Option ID = 3876]
2. 20 [Option ID = 3874]
3. 18 [Option ID = 3873]
4. 24 [Option ID = 3875]

Correct Answer :-
e 24 [Option ID = 3875]

11) If the under given letters of English alphabet are arranged in a proper sequence we get the
name of a/an

i A T S HIYT & 378RT FY T FA HA TSIT A0 A TR T AT Yo g & |

[A;A, M, U, Y, N]
[Question ID = 918]

1. Indian Festival / TR i8R [Option ID = 3892]



2. Indian City / 8T 2rg¥ [Option ID = 3890]
3. Indian Food Item / sm—cﬁtr@m;ra}—gr [Option ID = 3889]
4, Indian River / TRcIT 77T [Option ID = 3891]

Correct Answer :-
o Indian River / IR sTar [Option ID = 3891]

12) A large cuboid having dimensions 6 x 5 x 3 are coloured on two of the largest surface and then
broken into smaller identical cubes having dimensions 1 x 1 x 1. How many of these smaller cubes
will not have colour on them?

TS 93 GATH THTHT AT 6 x 5 x 3 § F &) aW 93 TSl HY Wlet F 918 3/ 1 x 1 x 1 3T ared AT "1 & arsr
T ¥ | 51 B uel F F Rraat o v Rerger 7€t w@m ghem?

[Question ID = 919]

1. 36 [Option ID = 3894]
2. 64 [Option ID = 3896]
3. 40 [Option ID = 3895]
4. 30 [Option ID = 3893]

Correct Answer :-
« 30 [Option ID = 3893]

13) Kalyani starts driving to her sister's home which is located on a straight road in the North west
direction exactly 60 kms ahead. On her way, after driving for 20 kms she takes a left turn and starts
driving away from to the road towards a small restaurant located "X" kms away from the main road.
If the distance of the restaurant from the initial point is exactly 22 kms then what is the
approximate value of X?

Fearoft Seav aftes e F U et agar & &3 Sif 60 km 33t § & AT v WY @3& W M) T 4% FIA
T| 20 km e+ F 915 T8 IS WSF F gy i "X km ¥ ua v S Weari A O 991 &t §| A Pt g
& ARt A gt S 22 km § @Y "X" FT AT AT ket 82

[Question ID = 923]

1. 10 [Option ID = 3911]
2. 12 [Option ID = 3912]
3. 9 [Option ID = 3910]
4. 8 [Option ID = 3909]

Correct Answer :-
e 9 [Option ID = 3910]

14) Five movies A, B, C, D and E are to be released on five different days from Monday to Friday, one
movie per day, by keeping the following rules in mind:-

[1] Movie D cannot be released on Monday.

[2] If movie A is released on Monday then movie D will be released on Friday.
[3 ] If movie D is released on Tuesday then movie B will be released on Monday.
[4 ] Movie C is released on the next day of release of movie E.



If movie B was released on Tuesday then which movie was released on Monday?

ur f5es A, B, C, D 31 E W1HaR § YFAR aF Iid Herr-3rasr Rt w1 Refter it smeefy, v et # va frenr &
feama &, s faaal Y e & e go-

[1] 7t D F MHER F Refier 7181 fmar s @

[2] af% feear A 1 \rar Ft Refter fnar Simar & oY fresr D &t gwar &1 Refter B smeem
[3] 3R fhea D HITEAR & AR Y ST § aF Rred B & @lAar w1 Reflsr fram simeam|

[4] fred C fved E & Reler & 3rrer et Relier #r st 21

IfE fed B FY HareraR Y Neltsr 7T 712 o1, Y fFg fvear 3 W1ar #1 Relsr frar o ar?
[Question ID = 906]

1. E [Option ID = 3842]
2. A [Option ID = 3841]
3. C [Option ID = 3843]
4, Cannot be determined / T3 =TT X Hehdl [Option ID = 3844]

Correct Answer :-
o A [Option ID = 3841]

15) Find the next term of the given series.

& Y Si@eT FT 3T 9E AT FY|
"6, 24, 60, 120, "
[Question ID = 922]

1. 240 [Option ID = 3907]
2. 270 [Option ID = 3908]
3. 210 [Option ID = 3906]
4. 180 [Option ID = 3905]

Correct Answer :-
e 210 [Option ID = 3906]

16) Find the Odd One Out.
I RAFed I |
[Question ID = 905]

1. Rocket / Jrhe [Option ID = 3838]

2. Meteors / &#hd [Option ID = 3840]
3. Star / dRT [Option ID = 3837]

4, Planets / 9Ig [Option ID = 3839]

Correct Answer :-
 Rocket / ke [Option ID = 3838]



17) Look at the four images given below .Three of them follow a certain pattern and one among
them is different. Find the odd image out.

A T v 9RO 1 e @ | IAH § T v AR Yoot F1 yraa Fa § FTafF saH § v 3rereT §1 IEIT
sl @l

/}J[E\f:.ia\/; Y - 1@
AU AL
(a) (b) (c) (d)

[Question ID = 912]

1. b [Option ID = 3866]
2. d [Option ID = 3868]
3. a [Option ID = 3865]
4. ¢ [Option ID = 3867]

Correct Answer :-
e b [Option ID = 3866]

18) Abdul is driving on a straight road. He turns 45° to his right, driven for few minutes and then
takes a left turn. If he is now facing the West direction then which direction was he driving towards
at the very beginning?

3reqel T HIEl H3F 9 TS AT @ ¢ | T AT 450 & ASAT &, TS & IS Tl F 91 qg aT¢ 73 A1 ¢ | A
39 gg afves faem 1 3R ¢ @1 ¢ af fager gqvara # g frw e # 3K 7g @ an

[Question ID = 909]

1. North West / 3ca¥ uf¥a# [Option ID = 3854]
2. North East / 3ca¥ & [Option ID = 3853]

3. South West / gféror uf¥aer [Option ID = 3855]
4, South / gf&roT [Option ID = 3856]

Correct Answer :-
 North West / 3caX gfRae [Option ID = 3854]

19) What is the angle made by the minute and hour hand of a clock at 3:35 PM?

3:35 PM a9t ffiete 3iv 6 i g3t & ot aaa arem Hior frde giar 82
[Question ID = 911]

1. 97.50 [Option ID = 3862]

2. 102.5° [Option ID = 3863]

3. None of these / 337 & 15 8t AgT [Option ID = 3864]
4. 87.50 [Option ID = 3861]

Correct Answer :-
» 102.5° [Option ID = 3863]



20) Birju was sent to jail for a 225 days jail term. If he was released on Monday morning then how
many Sundays did he spend in jail?

foey #1 225 Rt A S A T §81 IR 78 WHAR A Fae NeT g3 a1 A 57 et # fraar IRaw e 92
[Question ID = 913]

1. 33 [Option ID = 3871]
2. 31 [Option ID = 3869]
3. 32 [Option ID = 3870]
4, Cannot be determined / dI =T8T & Tehd [Option ID = 3872]

Correct Answer :-
e 32 [Option ID = 3870]

Topic:- UPPCL_Feb18_JETE_Set02_GH

1) 39 MSHA F HTAR T2 HT el & |

1T Areat H WAS AY Tataer arferer F1 37 ¥ g & e 7 3fe 3R 37F FRor Al 7 @ arer wRacder gt
& AT # g1 W 39 iy (P& 100 el & 3iae aTaaTs X 10 SRS i I §) F TROmAT FawT aiiver &
alHl ¥ agare, REEvs! Ak 7afiRRT & Rrads, ¥9g F savat 7 gig 3T geaeafa aur Seq sera W geamat & &9
¥ WA T FFA 2

TS QAT o Y Rrerel T2 TAEAT §, T§ a1 U HTH HTeH TAS g1 91 §1 3§ ¥ 2reg 41T ERFeAP Ao
21 ST I8 SUH! A8 dF A1 1T &1 e 39 v darfas TRemNT AT 818 &1 J1aT §1 SIea? de Y
AT & T RheleTe GUR $) SHQ FIE Taw o2 8

o 7 off 7eaer arfdter v wafad e @t & 3l smmor-gls # e @t arer st & A oft sweT 3w S waew
LT &1 AT faraamer 1 gfevan Y are HY A Feae T FY AT srfasgarOr F1 91 W § | S 21 ey #
W T3T WA TATAT ST 6T &1 Ig T ity [eagg a1 el ajeare (veeiss) & qed @ e @ off a7 A o
W@

¥.) 39T IACHTA F ITHR ‘TaAlaer QAT HT 97 7Y 3?2
[Question ID = 446]

1. et & AR &7 STeed¥ dgaT [Option ID = 2005]

2. 92l & AT # g 3R S8 HROT AFH 7 glel arel aRaci=’ [Option ID = 2001]
3. gt &1 ¥R a1fd & [Option ID = 2003]

4. LT &7 ot M1 & gHAT [Option ID = 2008]

Correct Answer :-

o gl & AT & gig 3 $HS HROT HIGH # gleT arel IR’ [Option ID = 2001]

2) 39T ACINT & HTAR TT T el & |

1T ereat H WA AY Tetaer arferer #1 3 ¥ g & g F i 3R 3wF FRor Alww F @ arer aRader g
& AT # 81 W 39 gig (TS 100 w1t & 3iha AT9aAT W 10 BRAFTEE AT 37 §) & IRomeT TawT aifiker
alHi # aeare, faEvst Ak 7ARRRY & Rads, 998 F saea 7 gig AR Fereafa qur Seq sera = yamEt & 7
¥ WA 3T THhd &



Tetae ATTHAT o Y Rhctel T8 TAEAT §, TE a1 U ATH HTEHT TAST €T T §1 39 A e AT SRFeAR ATl
21 sufod 98 SUH g dF A1 oA1dT ¢1 e 38 v d=nfas g Aee 813 ar Srar §1 SareraR |
AT § B RbereTe GUR 1 U FIE Gaw 7gt ¢

T # oft Teltaer arfter v yafad 2reg ET & 31T smer-gle # ot @ arer ARt & R oY swehT 310+ F1E Adew
e &1 e Tarawmer 1 gfevar i ar Y A Felae arfFer F AT sfasgarOraT F1 97 W E | uH 214 A #
AW 3T G AT AT T8T 21 I8 T a1 fereagg ar et afeare (veiss) & qeadt @ e & oft a1 Arar o
WIRI

9.) SAETaR A9 Y Teaer AT & I & FIT AT & ?
[Question ID = 449]

1. TOR H R & IS WRT AT & [Option ID = 2013]

2. TOR I fRdY 3T g ¥ T § [Option ID = 2015]

3. RheTgTel TAR & Ieldel qifaleT ¥ s WcT o6l & [Option ID = 2010]
4. Fiael aTfHIT & R T F w761 g1 [Option ID = 2012]

Correct Answer :-

o ThoTgTel HHR &I Tellael Alfeier & I Wl 718 & [Option ID = 2010]

3) AFT & @ FiFHT 2 FHURT TATH FT U 3618307 ¢2? [Question ID = 433]

1. TSFHAR [Option ID = 1946]
2. drar#sR [Option ID = 1952]
3. Fer8sa [Option ID = 1950]
4. IEwaer [Option ID = 1948]

Correct Answer :-

o dIar#sX [Option ID = 1952]

4) @R gA 9¢ e, R T ¢ Tall WA TETs 8 7 v qgrs 8y, # IR T 1 wurh o9 w2 g?

[Question ID = 430]

1. 43T} T& [Option ID = 1939]
2. g1¥Y 39 [Option ID = 1937]
3. IR & [Option ID = 1941]

4, #7fFd @ [Option ID = 1943]

Correct Answer :-
o dRX I [Option ID = 1941]

5) '@da’ &1 aftr s -
[Question ID = 434]

1. @¢+1g [Option ID = 1956]
2. §&+q [Option ID = 1953]

3. §e+Tq [Option ID = 1958]
4, GeT+1g [Option ID = 1960]



Correct Answer :-
e Her+ug [Option ID = 1960]

6) U v fasheul & & AEHT eusg HT TIA Y|
[Question ID = 442]

1. T [Option ID = 1985]
2. faeger [Option ID = 1991]
3. T [Option ID = 1989]
4, T [Option ID = 1987]

Correct Answer :-
e HIH [Option ID = 1985]

7) Rw 7T a1 # 9YFA HAFR F A F 994, U 717 Ao 7 § Y|
AT T A, W ¥ gAaT A |
[Question ID = 437]

1. IUT & [Option ID = 1968]
2. 3eai@ [Option ID = 1962]

3. Td#TaaT [Option ID = 1966]
4. 39 [Option ID = 1964]

Correct Answer :-
o 3coid [Option ID = 1962]

8) fArafaf@a ereg F AT areg &1 93+, T v Reweul F & F|
e

L]

[Question ID = 444]

1. Tt [Option ID = 1999]
2. 81aT [Option ID = 1993]

3. TIRST [Option ID = 1997]
4, Q¥eraT [Option ID = 1995]

Correct Answer :-
o #gT [Option ID = 1993]

9) Fafaf@d eaeg & AT rsg &1 99+, U 71w faweal # & Y|
ofsC
[Question ID = 441]

1. THAT [Option ID = 1983]
2. 5% [Option ID = 1979]



3. FoisT [Option ID = 1978]
4, #I [Option ID = 1981]

Correct Answer :-
 Hoiol [Option ID = 1978]

10) fFrafaf@a gray #1 s F=r ¥
AR A FER H{IAT

[Question ID = 438]

1. 3FFHAT H1H HTAT [Option ID = 1975]

2. O3 ersar # 31f8e& gaTr [Option ID = 1969]
3. FEATYOT &I AT [Option ID = 1973]

4, I gt & TT =TT [Option ID = 1971]

Correct Answer :-

o AUTS ersal & S FgaT [Option ID = 1969]



